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FRESHERS NOW ]

Time : 3 Hours Marks : 200
Instructions:

(i)

(i)

Fach question carrics one mark.,
8 (BHD &8 Sty Sodh.
Choose the correct or MOt appropriate answer from the given options to the following questions and

darkun,‘“’*ith hluelf black ball POint pen the corresponding digit (1), (2), (3) or (4) in the circle pertaining to
the question number concerned in the OMR a nswer Sheet, separately supplied to you.

BIOS SO0 B8 BPD BWES B gag,s sErErEEu HE TR0 &rdod a8 (1), (2), (3) Gl
(4) Sore 55 OMR SIrGe B850 (35 5000500 Som o HBEH ap/eps ard awols Dy
ASTFAOD JOBIB.

3 3
If 2x — 5y =7z~ 3y then, for xyz # 0, & —3432° - 8y” _
Xyz

3 3 3
2x —5y=7z—3y, xyz*0, ®onSHtH 8x”—-3437" - 8y” _

xyz
(1) 80 2 82. 4)( 84 4 86

A person travels from A to B at 75 kmph in a Car and in the return journey the speed is reduced by 15 kmph.
If the total time taken is four-and-half hours then the distance (in kms) between A and Bis:

&8 S58 A 08 BE 56 [Sc5rm0 o 7582, Fo8® 30, B (Saireos® IRy Kowsd 158.5
BROTD. G Ando (BATETRS TeordRS Hoten $BB A, Bo gy €rSo(S. .08 :
(1) 100 2 120 @ 140 @ 150

Three persons A, B, C start a company and contribute a total of ¥ 10,70,000 towards its running. A
contributes Z 50,000 more than B, and B contributes ¥ 60,000 more than C. If the company earns a profit of

% 2,72,850, then the share of A is : (in rupees)
Sy Hgen A, B, Cen Z10,70,000 2388 &8 EoDAD (0T, B eynd ST ADipnd T50,000
Dy, B C Deped SI7 B Diped T 60,000 28, « Sond8 T2,72,850 erglo 57 woHs® A

Tt : (Braranerd®)
() 1,04,550 45 96,800 @) 91,800 @ 76,500

The volume of a sphere equals its surface area only when its radius (in units) equals:
a8 o H55bSmno oo edbde Beredd ISrSHdd oo argo (arARs®) Bod Songd

KBRS Soonsped SeSD :
1 1 @ 2 @ 4 &7 3

If the angles of a triangle are in the ratio 2:3:7 then the largest angle is : .
ot s g, T8 iy & i
28 [BebesostD Samen 2:3:7 086" 808, TOG ©BDG Sro :

M 90 @y 105° @ 120° @ 150°

The number of positive divisors of 19951s:

1995 Gw¥) G gresste dogy ﬂ)/
32

1 s (2 16 (4 64

e —————
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\E
While walking a distance of 24 km, 2 man Noticed that after walking for 1 hour and
40 minutes, the distance walked by him was ; of the rémaining distance. His speed of walking is :

(1)  4km/hr (2) Skm/hr )3‘ 6km/hr 4) 8km/hr

28 38 248, 8, tivoey SOREES @AseddosciB pODENBER 2 Koty 40 pe SRS HSHVODIB0B
6% BoirBoDs o HAES rsost > § 308 SN 08D a8 3o

(1) 48.5./Ko. @ 58 /K0 3) 68.5./Ko. @) 88.%. /Ko.

A certain sum is given on compound interest atsome rate. The sum amounts to % 7,350 and ¥ 8,575 at the
end of 2 years and 3 years respectively. The sum givenon compound interest is :

508 Rrduyh Eod Bewd SESEE sswlod. © iy 255 BoSSTroERdS HHBAD 3 HoBE)ToE RS
S8 T 7,350, 8,575 wonod. SESE8 ag)yd Ty :

(1) 5,000 % 5,400 (3) 6,000 @4) T 6,400

The least multiple of 7, which leaves a remainder of 5, when divided by 6,9and 15is::
6,9 %8S 15 ©F grROS™ 5 Fhkn $3x 608 7 AwE) ofered® 0B 03 Sogy :

(1) 450 9)/ 455 3) 560 (4 378

10,

r ag

As
Taps A and B fill an empty tank individually in 8 hours and 6 hours respectively, while
tap C empties the full tank in 12 hours. Due to a problem tap C could not be closed. If the taps A and Bare
opened alternately for one hour each starting with A, the time taken (in hours) to fill the tank is :
¥ g &80 A, B o3 Hom DEDEM SEDHT 8 Hotew, 6 Koten Hdachos® odre, Ced Ho Jotd
62 12 fowd’ o8 Bp08. o $iiy e So C O K Sahero HEY B, A, Bod SHIre 25000
Soxi 288 2.8 ot Fen Ddr, & 58I A & (P60 © &Y Dokers 58 Bavo (Kotrdd) :

@' 6 8 @) 16 @ 24
-
11. January 1, 2018 was Monday. Then January 1, 2019 falls on the day :
Tuesday (2) Wednesday (3)  Thursday (4) Saturday
22358 1,2018 % RSozrdo. @ 8XB0 1,2019 Baris HJ) B0
(1) HoKgardo (2 =g=rbo @) fdTso @) o
12.

A tent is in the shape of a cone surmounted on the top of a cylinder. Height of the cone is half that of the

cyl_inder and the b-‘fse radius O_f thecylinder is 3 m. If the canvas required for the tentis 198 m2, then the total
height of the tent (in meters) is :

35’535"50 o) B0 28 A2I0 P % BhoseRB. FoSH I, Smo JHE® Bio Bk
Ao gbe g0 3 8. o8 SOIR ] g 198 .2 o8, HEdo Sndo J& (oesst) | (;

OB & 8 o 8 @4 12

4-D
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1 1
Three persons P, Q, R start a company wjg, their contributions being in the ratio —: —: = . After 3 months,

P withdraws half of his contribution, and

ther 9 months ; fit of T3,16,000 is divided amon
them. The share of P is : (in rupees) after anothe nths; a profito is divided among

83 ?‘-m:m&é‘ S HIHOLD. mosey ﬁ”&b&fb A0 BOS SY)S erefiin T 3,16,000  S0HEHOLRED.
06" P8 SRS TEF : (Erdravedt)

(1)  1,20,000 @  1,00,000 ;a)/ 96,000 (4) 90,000

14.

The remainder when (67% + 67) is divided by 68is:

6767 + 67 % 68 8° griose $3) o

p( 1 @ 65 3) 66 @ 67

15.

A train starts with some number of passengers. At the first station, one third of the passengers get down
from the train and 280 passengers get into the train. At the second stal:lon, half of the passengers get down

and 12 passengers getin. Now, the number of passengers in the train is 248. The number of passengers in
the train at the beginning is :

FodH0b (HardHes® .8 Do pabendosn. s PO Krdob 28 Ho (HardHen A
280 %008 (HcirBLen 3 Benss ($38008. Bo&® YA @c:smagaa‘ Sifo S0b BAET 12 Hod &°08
(538008, 2t Bend® (HcasrdHe Song 248 o @rSogod® Jend® &) (SasrdDe Sogy |

1 192 ’ 2 288 @ 324 4 376

16,

If ABCD is a cyclic quadrilateral in which |ABC =47° and [BCD = 97° then |ADC — |BAD =

ifab Setgmo ABCDE® |ABC =47°, [BCD =97° ®and |ADC - |BAD =

1) 40° , (;;/ 50° @ 60° @ 70°

P-T
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lements ; 4 2 7 3
_ fthe€ ntsmu]eset{__’ £ 435
17 Ifa,,ay,a,a, and ag are the decreasing opeee ist- 11 j 53" 8" 4 5 thenthe correct
- , n ].n L:S = 15 ‘.
matching of the values in List - I to those gve
B0 a ;
5208 {i, 2 7.3 E] &0 Zroseo 0365 132 33 ay, a5 ©o0d @ hge-| ¢bs DenSess
S 3 8°4°6
o -1 58yl
ol asgHt 0 il I
List-1/erdge-1 .
@ a-a, 0 1
1
(b) 232 = aa (l.l) 5
o1
©  5a,- 4a, (i) g
T |
o (iv) 2
The correct matching /S80S &4 (Q/ )
(M) (@), (b)-(i), ()-(iv) ) (@), (b)-(3), (c)-(iv)
®) (@), (b)), () @ @0 OHw). -G
18. A and B undertake to do a work for ¥ 6,000.. A alone and B alone can do that work in 6 and 8 days
respectively. With the help of C, they have finished the work in 3 days. The share of B's js -
A, Beo 25 539 6,000 0% SdHeeds 2.8)0650 HEDENERB. A, B en IRIAM & 53D SBIMe 6, 8 Goars’
Bobrewm. CHsavod® e 599 3 8wels Grodn8. o B :
- (1) T2400 ((2)/ % 2,250 (3) T2,000 @ T1,500
19.  The ages of A and B are in the ratio 2 : 5. Eight years later, the ratio of their ages will be 22: 43. Their present
ages are (in years) :
A S0ain B G Sabines 2:505)36° avnan. VDB SoSS)Bivenr Sird, 0 Sabdine 958
22: 43 ©H&HoD. O (S0 Scbikyey (Son o) ;
14, 35 2 16,40 3) 18,45 @) 20,50
20.  IfP,Q Rand Sare the mid-points of the sides AB, BC, CD and DA respectively of a quadrilateral ABCD then
the quadrilateral PQRSis a :
(1)  Square (2 Rhombus
(3)  Rectangle (Q)/ParallelogTam
Setipao ABCD &9 gharen AB, BC, CD 8asw DA © St Hothiden Sdme P, Q, R, S 88, e
:‘56:5@230 PQRSe2.¥ :
(1) S&sEo Q) SHoSsieo
i __‘—_—_‘-_-——-—_.__
21.  How many times, the speed of the minutes hand is more than that of the hours hand ina clock ?

2.8 K&asrB0s® Dodre j\)?/sﬁo ot Swew 3Ko %) o) Ben QS ? (
(1 30 ) 24 " @) 12 4 8

P-T
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: ’
irst torm and the last term is 60. If the sum of the terms is 195, then

An arithmetic progression has 5 as jtg §

the common difference is

o8 o3 Qs IES S0 3, D56 r5g g  Home Todo Dend 195 LS BHROSLO :
11 2 o9 @) 7 @4 12

23.

= _____-'_"""-—_._________—
A piece of work can be completed by A, B a 4 c individually in 12, 8 and 6 hours respectively. All the three

worked for two hours.at which point of time C [eft the work. The time (in minutes) taken by the other two
to complete the work is :

A, B, Cen DEDEM 2.8 IAI SRM® 12,8, 6 Kot06® 8 Sbress. Kokl SO Bokb Hotes 5 B0

3o C SE0 I, DRDI 2 K01 ¢ 0 FrG Faverds $ES BiHabo (AWAXE) -
a 12 2 24 3) 62 w7 !

24.

e ———

3 N
A person sold 1 th of his articles at a profit of 25% and the rest of his articles ata profitof 17%. The overall

percentage of his profitis:

3
2.8 558 08D 5 &) BOHOS T3 Som, 25% S ST, DifEr DO 17% ogdoss

' ST, B[P 0S8 Z;ﬁ:agém‘ SN ergs FrEEw
1) 24% 23% @ 22% @ 21%

In the figure given below, ABCD is a rectangle and CDE is a semicircle. If the length of the rectangle exceeds
its breadth by 7 units and its area is 98 sq.units, then the area (in square units) of the semicircular region
CDEis:

& (Bob H0o&® ABCD o8 BYSE@n, CDE o8 egfHdo. OESedEsy & od Idey Lol
7 Shrey @@Eore éoéur, 98 S5y ardly Jeego €9 aol, @t efdmesedo CDE (@08 3o
(S865 drdes?) : itm. s

E

D 1C

A———B
m 7° Y N4 3 57 4 77

26.

In a class of 30 students, 10 members of Physics main have average of 72 marks, 5 members of Chemistry
main have average of 66 marks and 15 members of Mathematics main have average of 80 marks. The

average marks of the classis:

30 08 Domghen Ko o SEHOE’, F8E TR BFSore Ho 10 &b Ihets ST Sty 72;
BRPaDs BP0 (Bersore Ko 5HH DogROH ITNO Lrtigen 66; KBS o BErRorr Ko 15 Hod
Demgee SO0 rdipen 80. SEKOE wotd DIRE SO dontipen /

1 69 2 70 @ 74 3 75

27.

A car completes a journey in seven hours. It covered ha!.f of the distance at 40 kmph and the remaining half
at 60 kmph speed. Then, the distance (in km) covered is :

2.8 S 2.8 [Haired) Db Kowdd FPEBRD. ©B8 Ants Ko KroeY ot 408. 2. Srod%Se, HADS
S50 PR Mot 608.8. Hro8% e 8 TR, YD, BairBods Tndo trvo (B.2.0¢) :

1) 280 ( 300 336 @ 420

P-T
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10005 40UV€ e loss incurred when the same article is sold for

28.  The profitearned by selling an article for< P ke 30% profity
T850. At what price should the article be 5O

559% T8504
28 S5 T1000% 93;83 SO gD, o3 G&b@ 553.) 53@35 Coth By, e 5%:9%

- ?
D 568 yd, 508 30% eego S0 ° ) 1170

1) 1100 2 1150 @ 1270

o ared gets i .
29, lfﬂlesideofasqummcmasesbyzl%'he“'tsar 8 Increased by :

28 SEB60 ghaos® BrHse 21% oS TR g""% 2678 :
(1) 42% (2) 44% 46% (4) 13.41 %

30. The distance between two stations A a'?d B 15 300 km. A person leaves the station A to
reach B. He starts at 10 AM by car by driving with z;ap‘:fd of45 kmph for the first two hours and remaining
distance s covered by driving fastand reaches destinationby 3,30 PM. The speed (in kmph) with which he
travelled from 12.00 Noon to 3.30 PM is:

Bo PAK A, B o gy drso 300 8. A Dol achen I8 2k 358 B Sorosoird
B565H0 10 Kot Kok 45 8.5, Srod® IO Bod Hove st [Bsmdoms, 3R 20D e

B (Batrdon . 3309, o KRR SEFTD. $.1200508 F. 330569 €8 Bardos

fﬁ;ﬁyﬁo&é 8.5 06 :
60 2 65 @ .70 @ 75

31.  Alent¥5,000 to B for 2 years and ¥ 3,000 to C for 4 years on simple interest at the same rate of interest and
received ¥ 2,200 in all from both of them as interest. The rate of interest per annum is :

Ae3 568 BE 2 Sosdpe 5,000 0ir, C & 4 JoSS)reH 3,000 0ir 28 Bend Foeom 548 o)
AT, ©3DE SO Iwdo 5§ T2,200 wowd JoSEEIS @ $4 e :

(9/ 10% @ 8% G 7% @ 6%

32.  Person A completes a work W, in 6 hours while person B completes another work W, in 6 hours. If
W, is only equal to two-thirds of W, then the number of hours required for A and B together to complete

both W, and W, is :
58 A2s SO WD 6Howd Fodchr HE'SE B HEESD W, 6 Hond radadien. 59
W, 83 W, & Sirdlod Bots Sodh & soll; A, Beo afte K08 eBotd Sihose g Saperds
58 rowe Jogy: ; ,

m 6 @ 7 {g)/ 5 @ 8

33.  Fivepersons A, B, C, D and E starta joint venture. Their investments are as follows :
B and C invest equally; D invests half of C and double the investment of A; E invests twice that of B. IfE
receives X 24,00,000 as his share in the year-end profit, then the total profit (in rupees) :

0ErHw J5Hen A, B, C, D 5865w E ey 2% Sl argaroR) (e8oDomrt. 8 digehen Bod dFore
aIHow :

B, Cen Saimidorr Dégoll D6, D ipod Ctmmi Hio SO0 A Digods 880, Edepel B Dipods
Oofloden. BoXEPOS €4506° 3 24,00000 05 F s f‘y" fro88, Bndo ego (Erirad)

(1) 95,00,000 ) 54,00,000 3 57,00,000 4)  76,00,000

34. Aright a.rlgled isosceles triangle hag hypotenuse of 12 cms. Its area (insq. cms)is:
2.8 ©0® JDEERS (BeHad) 880 1208, vy Save (5.%0.8. ©6%):

m 12 @ 24 /a)}o 36 @ 72
___‘__-____-_-_'_'_'—\——.__

8-D
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A& 1A gets S0% more salary than B, they

R gets how much percentage loss salary than A ?
BSoD A8 50% ddo dug 8,

A ‘w ndi\\'l QOO DO “a)rp ?

2 p ! -
(n 25 (> .\\:‘- ) 50 )

. o : e ————
36 By selling two items cach tor 2090, merchant gets a protit ot 10% on one and a loss of 10% on the other.

The result to the merchant in this transaction is |
Lows of 1" L:] Profit of 1%
J)  No loas and no gain (@) 2% loss

o dRQew afHEE Tooo § SN A JZHIY wSTOP 10N o oo, HBY @Op 10% Igo
SRR, B ovAVS' IFOLIH SYS 300 -

(LT R P 2 INeego
Q) I S, engar B (@) 2% SRe

37 Avillage which is recorded having population growth ot 5% annually has population 18,522 at the end of
the year 2013, The population of the village at the beginning of 2011 was :
@8 JodFHoRe, 5% aIee DS ISP ol (oot 2013 B Nodgorod wargr 18,522,
7 2011 (@000 T8 » (o wIvgr
(1) 14,000 ) 15400 A 15800 @ 16,000

38, Three cubes whose sides are in the ratio 3: 415 were melted and a single cube, whose diagonal is 24./3 cm
was made. Then, the sides of the original cubes are ; (in cims)
3:4:5 WYJS® ghassiven Ko S IO S0N0D, 2443 o.db Bgo Ko al HSSum Scind
Tl eNpi, Ioss afs Pskne Hedves (o, . osd)
(M 121620 @ 91215 (3) 135,180,225 ,(45 15, 20, 25

39.  ABisa line parallel to the line PQ. 1fC and D are points on PQ such that the area of AABC is ‘a’ square
units, then the area (in sq. units) of AABD is

8088w PO S Samost Bw AB. S PQ R osiden C, Dev; AABC B0 ‘a’ 565639 sty odigegol
SQID AABD Ferogo (S8 SomIRe®) :

A a @)

40.  AB=13m s the diameter of a circle. A manmoves from A in a straight line and meets the circumference of
the circle at C. If AC=5m, thenCB=
1 8m (2 10m A 12m @4 11m
&8 It Eg) TS AB =13, e85 AN0d of 5560y Sairdod EK66 P Cod DoHS
S6E 0. AC=5D,. eowd CB=
M 8. @ 10 @ 123 @ nk.

@)

[STE
w |

@ 3

41, T78.400 was divided among three persons A, B, Cinthe ratios A: B = 5:4and B: C = 6:11. Then, the share
of Cis (in rupees) :
T 78,400 St Jgen A, B, Coh, RHH0 A:B = 5:4 50050 B:C = 6:110¢° 503 0dSs. wp,
C8 3 So (Erdraved®) :
1) 31,200 @) 34,000 A 35200 @ 36,200

P-T 9-D
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35 35 .
' Yo fris:
@ W13 T+ 1 12, then a valueo
3
x —? i .1‘3-31 =12 wawd x @o¥) &8 Dend
-
43.  Ifeachside of a square is decreased by 25% then the 1atio of the area of the resulting square to the area of the
givensquare s :
2.8 SHBEO (58 ghwo 25% SHh, FE™ JHAD iéé?,»ga%m‘ (58 S5 BTSOA Ko VB -
(1 16:25 @  4:9 9:16 b on

44. Letsbe 15?2’.% of 24, t be 331% of 9 and u be 20% 0f 25. If s, t and u are the side< ~f a triangle, the angle
- 3 *
opposite to the side of length uis:

24 & 16%%3 s ©, 96° 33%%3 ted,256° 20%0 u®d WDoR. s, t, ued ghere ﬂ*cﬁémrp e 2.8

Bgheost, DED uKe ghad S 8o
1 30° 2 45 (3 60° /u/90°

45. Length of a rectangle is five more than twice its breadth. If its area is 273 sq.cm., then the area (in sq.cms) of
the circle, whose radius is equal to the breadth of the rectangle, is :

o8 BESHBR0 TEH O ey BGoPEY) WD s, TR Perese 273 3.%0.2D. ®ond, @
8 (5 Beyd gRrgore Ko I JTege (5. 20.80.08%) :
346.5 @ 12325 3) 140 @ 210

46. The captain of a cricket team of 11 members is 26 years old and the wicket keeper is 3 years older than

captain. If the average age of remaining 9 members is one year less than the average age of the whole team
then average age of the whole team is :

(1) 22years 23 years (3) 25years (4) 24 years

11 008 Heb5e0s o BES poBH RS Sabky) 26 Dey), o) IBE 8§36 Babiy I Sakdy) Kol
3 BoBdyoren HENS. Do B0t JT°H0 SALY) Kol LADS 935008 Hghye HTPNB JaHy) e8 JoddyKo
B wons & I B0 JoH0 HAHKY) :

(1) 22R058yoen (2 23Jo5&oren (3) 25 XoSdoren (4) 24 J03&oeen

47. A person A starts a business with an investment of ¥ 1,00,000. After two months B joins with him withan
investment of ¥1,20,000. After eight months Cjoins them with some investment. If the profit at the end of
the year is shared equally, then the investment (in rupees) made by Cis:

28 58 A, T1,00,000 T::é.:gm&é‘ el oy [ EohoB. Do Jov S$Haed T 1,20,000 ‘a&ga&ﬂ‘ B
2850, WG Joo SOTE 508 DiyndE* C 5008° BBEEOD. VoSHToSAY IS ovgrQ O
Saoore HoiHEPol, C 2eRedm DAY ko (Krdrcns?) :

(1) 500,000 ()  4,00,000 3y~ 4,50,000 (4)  3,00,000

48. Thenumber of digits in the smallest positive integer which is composed entirely of fives that is divisible by
99is:
p&oes® SHED DGE, 9 3 grAcSHE S repols somgd ®80Y IS woBe Vogy :
9 2 12 @ 15 @4 18

o 10-D
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49.  Aroomis 5.2 meters in length and 2.0 meters in width. The least number of square tiles required to exactly
cover its areais :
&8 1D Gt BE5) 5.2 0ot 080ty o 3oy 200068, & KB pEYSore SHEES Sokos® Somrecl
SPHORS oo Joyy “
1 96 (20 85 @) 75 }/ 65
50. If x = 03 thenx?=
x =03 oondS® 2=
M 03 @ 03 @\ ool 17, S ¥
S51., “Aand Bcando a piece of work independent]y in 12 days and 16 days respectively. They worked together
for 4 days and B left the work. How many more days A worked to finish the work ?
&8 B A, BILAE S 12 Seren, 16 Sfarod® 0 IdbKed. 0L SO 4 Beren 50 IS
S0 BIY I0D Jgeth. DADS HAD g Faherds A S owose I Beven 5808 ?
1 3 2 4 5 4 6
52.  Suitable term in the following sequence is : '
Bod evdEsnos® H¥8 ewans HEo :
A‘C? GIK, MOQ, ‘
v g -rt!:K LD e
(1) l:rgfi‘ (2) MRS (3) EEY ‘ﬁT 931 A -
53.  Inacodelanguage ARISE is written as CUMXK. Then the code of WORLD in that language is :
28 §°E grid® ARISE D CUMXK e (8. oS @ gbs® WORLD Gws) §°5
(1)  YQPJF /g YRVQJ @)  YSPIF 4)  YRPJF
1
54. The rate of income tax is reduced to 125% from 16%. If a person has taxable income of
T2,40,000 then the tax benefit (in rupees) is :
soraby) Iy Ben 16% $0d 12%%5 Shoordd. o8 B8 Sy IPod &K eorabo T 2,40,000 wand
559)6° wre(trarond?) :
(1) 4,800 @ 6400 (3 7,200 4 8400
55. A circle of 3 cms radius lies inside and touches all the four sides of a square. The area
(in 5q. cms) of the square is :
3 0. . Fy3Ggo o el Sygo as JE8Fostse, avd o} Mero I )83k aod.
& SHYEH Seveso (3. Ro. .06%) :
(1 9w @ 9 G 18 ,(lf 20
56.

By selling two articles each at T 480, 2 merchant gets 20% profit on one and foses 20% on the other. In the
u

total action the merchant gets: )
4% loss (2)  noloss no gain

B) 5% loss 4) 5% gain
eS8 T 4808 &2y Dot SHop e.8 SEHV8 .8V P 20% erglo, Bok® TR 20% Igo IQod. &
Wio rrEdE* W SHDHAB SPIO :

b
n0-W " T

O a%sgo
(3; 5% :g: (4) 5% ergo
P-T 1-D
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57.  Six people namely A, B, C, D, Eand F want to sit ﬂ"?’-““,d a hexagonal table in the following manner.
A and B want to sit next to each other. Eand F want tostt OPPOSitO to B and A respectively. The number of
different ways in which they can sit such that abo\’f-;':ondltlm\s are satisfied is :
A, B, C, D, E So6cto F o srom Sshes & 6100 9586 28 degenses oy it ©rB)S oo,
A SB35 Beo 258 $EH SEE SrEISTO £ 5009 F e $tiore B o atin A o S8 SreN$S8850.
4
& DAHEFOLLIOBOMT T KFBYS KOS DEFaro VO :
@ 1 2 G 3 @) 4
58. A person starts walking from a point A towards South for 100 meters and turns left to walk 40 meters
East. Then, he again turned left to walk 60 meters towards North and turned left to walk 70 meters towards
West to reach the point B. Then, the distance between the points A and B is (in meters) :
25 S8 Dotk A ol (&m0 ot SK¥ oser 2§ 100Dy $8ces $3 e JHH 86N 40 etk
ERGp BOS SETE. DBerED SHTHS 86N 60LY agto 39 SBaes HE A JHH 80N
70 Sty DEHE Bhisordy Dotiody BO Boomed. Ot Dothihen A, Bo oy &80 (otré®) :
1 90 @ 70 @ 60 450
59. If TRIANGLE is coded as USJBOHMEF then the word coded as TRVBSF is : f v
TRIANGLE 9 USJBOHME e 888 3% TRVBSF r §°6 00085 5o :
(1) CIRCLE 427 SQUARE (3) - RADIUS 4) ROBOT
60. The area (in square cms) of an equilateral triangle of side 4 cms is :
4%0.5. gheso Ko Seridm (Beba Preg (SBBH R0.d.06%) :
CVRNE o N T O B N @ 3
61{ It 8% of a property is T 1.76 lakhs, then 25% of that property (in lakhs of rupees) is : T
25 6B’ 8% Dend T1.76 om0 oowd © 6RE® 25% Deos (Ofo Erdrandt) :
1 11 2 9 @) 75 _ @)/ 55
Note : In questions 62 to 64 pick the odd thing out. : ' T
BSS : 62 5008 64 58K Ko [BHS® $8 Do) HgoSod.
62.°'(1)" 0.000001 )  0.0001 @ 0.00001 @ 0.01
63. (1) POND ) LAKE @y~ BRIDGE @ TANK
1) o @ 35 (@) o8 @) Y
4 2
64 Q')/O,Q 2 KL (@) HI @4 FG
65. The next term in the following :

Bod TBE° SHed J8o :
3X5,5U7,7R11,11013,

P 1dL17 ! "2 138M17 @ 13N17 4 13K17
66.  Fill in the gap below with suitable number.
@o&\wﬁ‘% pelaler it n)om'g%z ayaodo&.
L3 B 1
< s W e ——1m
= 6 8 9
M 50 @ 17 ) 65 @ 82

2 12-D
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67.  The suitable term in the sequence given below is
Bod aRys mmgi:olf‘ %0 o Kg -
OFLEG], FHK, GLL-_ Hjm
5 B @  HN /g)' GIL 4 GM
T
68. lftwo cupes'» each of side 12 cms are joined face to face to form a cuboid then the surface area (in sq. cms) of
the cuboid is :
12%0.20.© ghe0 Ko Botd Hrre Sngresss B85 D 65 50 8880 Dereso (3. 20.2. o6
() 1080 ¥ 1440 (3) 1460 (4) 1600
69.  The rational number with recurring decimal representation 0.1 24 is:
DIoES Serod D5Be 0.1 24 KBS exsdas Sosy :
4 41 43 47
M 5 30 ) 330 @ 39
70.  The total number of squares in the following figure is :
& BIOHS &%) DB Indo SHTRre Koy |
1) 25 @ 26 &5 50 4 55
71. IfGALAXY is coded as DXIXUYV then the code word for STAR is :
. Y e
G;L{;{;(Y&) DXIXUY e S°E Scheld ol STARS 5% Hio :
1) PQXN @ PQM (3) PQOX &~ Poxo
72.  Fill in the following gap with suitable letter.
$OGES ©EBos® (8o wbd roosol
“ w -
ADIP__ . ,
®n X A2 Y @ U @ z
73.  Forreal numbersaand b, if axb= a2+ b?—3ab then {1 *(_1)} i {J_ * J—i} =
RS Soggen a, botd asb= a2 + b2 —3ab ©0w8 ®{PES {1#(~1)}» {\5 * Jf}=
M 23 @ 35 ® 83 A 59
P-T -2 237200
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Note : In the questions numbered 74 to 76, observe that each que‘:hon(Q) is followed by two statements S, an-d S,
You have to decide whether these statements answer the question Unambigyously. Mark your answer as:

(1) if(S)) alone answers (Q)

() if(S,) alone answers (Q) i
(8( if (53 and (S,) together answer the question (Q), butneither of these alone can answer

(4)  if both (S,) and (S,) are not sufficient to answer the question Q)

RS ;74 508 76 $6% agys @Ehed® H0 BHQ) F TEM Jos FIIen (S). (5) @ ALY
HRodol. dP APowousLeRodmEm, aqs BSSToRIRrAD dobyd Sbore FFowodd BHH
aaa"madab :

(5)) &8 (Q) & mvarendityi0d B w5wer0 (1) 895

(S)) S (Q) 8 asrenDSKDB & vsweriso (2) X ;

(S)). (S,) &0 Botkr @BHFED SErGrarQBY, ©otds® D eKHRE ameedSs BB D sdwgrso (3) @,

(Q) 8 SSrEesBEeRA (S,), (S,) e Botie SORENB D Biirgrso (4) e HQoSod

74. Q Is A a friend of C?
S) - A is a friend of B.
Sy Bis a friend of C. ‘.ﬂ
@ : Caadmsm? L.
S) B& ARretd.
S, C8 Byir.
75 Q Which number is alloted to the letter 'S’ ?
S) The 26 letters in the English alphabet are numbered 1 to 26 in the order they occur.
Sy - Thevowels A,E, 1,0, Uarenumbered as 1, 2, 3,4,5 respectively. U)
Q ®550 'S’ 8 BeranodS Sogy A& ?
S) wolf EESro’d 26 VTR ®D &cd (EH06° 150D 26 H5H Jomgen SercnoTd,
Sy - oo A E, 1,0, Ueh 583 1,2, 3,4, 5 Soggeid Seranometh.
76. Q) What is the area of the circle ?
S) The circle touches the four sides of a square of side 5 units.
Sy) The circle lies inside a square of side 5 units.
Q §& Jeregod ?
S;) : o, 5 ArVE ghesorie el SHBRS meenit Eherosr 9))8508.
S) : Z)8o, 5 durdey ehaore e SHdHo Sive aob.

77.  Suitable words that fill the gaps below are :
School: ________:Students:: Hospital : —_____ :Patients

(1), Teacher,Medieines (2)  Class room, Medicines
(:B/ Teacher, Doctor (4)  Class room, Doctor
(808 grdo% FrBod JBwawS Suven :

FoeO:____ITPRe0 BB afen

(1) SeRGRCios, dote @ S8 K8, Sothen
() oo By @) Sor6 Ko, o

14-D
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78.

Which of the following diagrams suits wel] to represent days, weeks and years 7
808 e’ D6 Sleren, e TN ﬁog,%mom Jdedothiath H8rme HoD¢dol 7

1) @D @ © # @

e ——

79.  Fillin the gap below with suitable worq,
Fruit : Reap : : Flower :
1) Grow )

Fragrance (3) Bloom 6‘)/ Fall
Bob 58 HOGES HB08® FrBoSoA,

POIW : HoLko : : HA)o

(1) Brwo 2) Herlosto (@) Ddodwo @4 oo

80. Find the value of x.
5 (

x Do Eo8ho8.

25 100

(1 200 2 210 22 4) 230
81. Thevalueofxis:
x DD : .
5 4 3] e
[e]8]ox] [s]|7]|8]e4] [4a]6]7][18]
7 6 | 5]
(1 136 (2 138 (3) 340 @ 140

82.  If the following square is rotated throviﬁh an angle 90° about O in the anticlockwise direction and then
reflected through a line parallel to AB, then the resulting square appears as follows :

808 SEBE O rbore 90° sy 536 Pmo T 6P ABE Sirostor &3 o8 By oo Sorugse
93, 5T SHYHo Bod Diorr BB
£

%
D C
= P
A B )
B C A P A
(4( @ ) @
A D B C C C D

P_-r 15 - D
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83.  Theordered pair (x,y) =
Léé) MO (I, y) 3
Q) (23) @2 43 @ 29 ’m/(4, 2)
84. Consider the following triangular prism ABCD. If three faces ADB, ABC, ACD are labelled as 3B, 1v, 3
respectively, then a suitable label for the fourth face BCDis:
8o @ehersd Ségo ABCD D Aol 0 St Swgren ADB, ABC, ACD 0 S5oSre 3B, 1V, 3
o8 $r0d, s Soe@d BCDE $oDidh a8 Ar0S
D
1V,
C
1 4G 4Y 3 40 @ 4
Note: In a code each vowel of English Alphabet is coded to the next vowel cyclically and each consonant

S8 o8 BB wof oftsires® 68 ek)ir $U%8 e Sabore SE 3, (58 Srepde oo0 Sobd

is caded to the next third consonant cyclically. Thatis, A—E, E—], ..., U—Aand B>F, G=K, S—M,-_'
wees XB, Y-5C, ZD. The reverse process is used for decoding. Using this code and :
processes, answer questions 85 to 89. )

53 S St Sfabore §°6 Baholh. ®08, A-E,E-, ..., U-A; $0dk BoF, GK, s-»wj
...... X—B, Y=C, Z—D. 89 a86%55% :;gaesﬁ &-5%80R Sabolod. & S®oR, A-58dF
SEHOHITFROD 8508 89 S8 Ko (BHED aTmdiy, :

e

85. ThecodewordforBLOCKis: T f*U
BLOCK & sﬁ& o 28
(1) FPIGN (2 FPONG (3 FPEGN 5
86. The code word for ARMY is: AV ’
ARMY 8 &°€ %o :
(1) VQCE (2 QCEV }j) EVQC W S :
87. The wordcodedas HIPLOis: 3,9
HIPLO r 88 Saheds $to Y |
(1) KOREA Ly” DELHI &  PATNA o Koan
88. Thecode word for JNTUH is:
& %€ %o
: = i € () PIXEL @ TAXES
s i
P 16-D




FRESHERS NOW

P

89. Thewordcoded as VIH is
VIH re §°€ 3aveds $to -
(1) ROD RED 3) SET 4 SUN
. - ___---‘_‘_"-\-—_
90. Ifthe following equilateral triangle js -
p yar reflected about the angular bisector of C and then rotated through an
?;‘ cl)e‘:vlsZ_O‘ about its centroid in'the anticle?ckWisE direcﬁgll:, then the resulting triangle will appear as
8o JadbersT @lﬁ:@&hcég S Kﬁmsmotﬁ?é T Hote HorssSo Tobod 6P T Solgrgrdo MHot®
OSTERIE® 120° 808" $0ightem0 I3 £3) 1Bgb=o (§od Diorr dotnod :
A ;
B C
C A A B
» » ® A o A
B A C B B C C A
91. A meaningful arrangement of the following is :
(@) rational numbers ()  integers
(6 realnumbers (d) naturalnumbers
(8od T8 2.8 e85 6Bk ;
(@) @55 Soggen b) Sgosen
(© o35 Soggen (d) RSea Joggen
Choose the correct answe:é;fr/b@aiﬁ aTrad Do Dabod :
® @ (. 0)(d) (d), (b). (2). (c) @) (), (0)(). () @ @) ()
92. If R (n € N) is a rectangle of length 1, =%, breadth b“=n11 , then the sum of areas of
Ry, Ryv.ooo.s Ryl :
1 « i, Ea -
PED 1, =%, 3dey) bp=—7 ™ Ko BESHBH0 R (n € N) @owd Ry, Ryr %, Ry © Szerg Indo
\
% 101 100 PR 5’<
M o0 @ 700 ® 0 99 7
93.  If the following square is reflected horizontally and then vertically, the resulting figure is :
808 SBRe) SBa Simostone SoBgdo 3 6 augiopore Sovssso dke Sy S0
P-T 17-D )
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O Hhe follow g squares of sides each 2cm are used to f0TM A rectangular l"‘"""l”""m' with base AB( )

L E, then its volume (inem ') is

0 omo 2750, 8 Ko Bob SEE>O8* ol bigols SOB ABCD | § wertore, 83t Laore o,
DI HOSr@o (o.M, eet) :

. o

a s @ 16 ! @ o

The following table gives heat index h = h (T, H) in terms of temperature T" F and humidity H%. Observe the
table and answer the questions 95 and 96.

oRrE T°F, 3% H% o6 agovdo h=h (T, H) D (Bod S48 r0od. IQED A0 95, % Fdob
wrmw ol

H ;
50 60 70 BO 90

90 96 100 106 112 119

94 104 111 118 127 137

98 114 123 133 144 157

100 119 124 141 154 168

95.  When the temperature is 98°F, the average rate of change in humidity is :
ARP/AS 98°F rm AP, 8 6° Srew Sncigyden :
(mn 14 @ 150 p{ 1.075 @ 175

96, Whenhmnidityisﬂﬂi,thetvengenteofchnngeinbmpenmi!:
8 80% mm P SRPNES® Srien SmsBen :
m 4 @ 42 .4() 43 @ 44

P-T 18-D
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;:\::;z{i;?ﬂd;:l::ed ©On 100 students with regard to their sports activity revealed the following
FaArai B -Crickg :2‘udent who particip:lled in the survey plays atleast one of the three games
lay all the ;hree M( -l Volleyball (V) ; 20 play only F; 30 play only C; 25 play only V while 5
l; M)"d Ot s; oreover, § play both F and V but not C. The number of students who play both
Using thi );:f ““f as the number of students who play both Cand V only.
Smi dl‘-’- Information answer the questions from 97 to 100.
tma RomeRod 100 %08 dovtys, w0t 33y Bob Sirmd) Hijo Shod : $56° OY
58 Doogd ErloBe’ K050 D o % w10 warts. ©D 9SS (F),§3¢ (C) D0 b (V).
20 %00 F R Er@ @mts; 30 sop €0 Srd stoas; 25 £08 VI S ada, s
Sti:r;:;’m‘&oéﬁ [FTavh o0 ”Oastg' C 9 etiors FHddks V ol eaart 8 508, F Ced Bolo8d
SrED 62 DY Jowg ; C, Ve Bololh Srigd 6 dmsge Sopg® Sdmo.
& JErToY ASEEN0D (Bo8 97 Kol 100 S8 Ko BHeo aTrmen alel.

97.  The number of students who play atleast two of the three games is:

200eE0 &séaéf_ £0%0 Bolod & 30‘36@3& Bom : S

1 22 R 23 @ 24 @ 25
98. The number of students who play Cis:

CR &3 drmgde Sowy :

1 45 46 @) 47 @) 48
99. Inall how many students play V?

oo D& dod Lod z)a";g?m VR ethed ?

1) 42 ) 44 @) 46 @) 40
100. The number of students who play Fand C butnotVis:

F, Cod ethdr VI eid :);456393 dogy

1 3 ) 4 G 5 @ 6
101. Match the following : -

List- I List-1I

(a) Mycology (i)  study of pollen grains

(b)  Palynology = (i) study of treatment of tumours

()  Oncology - (iii)  study of fossils of animals and plants

(d) Paleontology (iv) study of fungi

2385w ¢

grlor -1 erdore - 11

@) Dod () ook Do vgieniso

b) Dowed (i) S50 8 VowohodIB

© wosved (i) Berere HBOD wEAdI0

d) Hodirotred (iv) Aoore B0 ergabivo

The correct match is/ 56 $0EoS 8E0R : )

M (@)- (i), (b)- Gi), ©-. @- @ @=( b)) (0)- (v), (d)- )

G (a)-(v), ®)- (), (0)- () (-@) @ @-0®)- @) (- @), (d)- (i)
P-T 19-D
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102. Match the following :
List-1I List - 1I
(Plant) (Edible Part)
(@)  Potato (i)  Swollen thalamus
(b)  Carrot (i) Vegetativebud
()  Apple (ili) Modified root
(d) Cabbage (iv) Modified stem
s (808 TPV asEBBHED
Do - | doe - 11
(S8 (5@ grifo)
@@ =orreesos () oS Hapdss
b) oS (i) eHad I
© 26 (i) Grdrosto 308 D
d) =32 (iv) Grarosto BobS sPoto
The correct match is/=8 303 £°80
& @- ). ®) - (i), () - (i), (d) - (i) 2 (@)- (), (b)- (i), (c)- (i), (d) - (iv)
@) (@)- (), (®)- () (c)- (iv), (d) - (i) @ (@)-(@), (b)-(iv), () - (i), (d) - (i)
103. Aqua regia also known as royal water or king’s water which can dissolve noble metals gold and plati
is a mixture of :
(a) Hydrochloric acid (b))  Nitric acd
Hydro bromic acid (d) Sulphuric acid
The correct answer is :
(1) (@ @®)and(d) (2 (a)and(b) @) @ (©@and(d) (4 (a) (b)and(o)
porrSEn 8 FBIHOH S8hoSKy TS eE So 8off) T Devded essx Oddd
{FSoo :
@ PEFOS e b) 3OS eipiiv
© TEE DS eipso (d)  ReomdE ey
[OEoS DSPEeINw |
(1) (@) ()30an(d) () (@DOaDB) @) (a)()HBAW(A) (4) (a), (b) SO |
104. Household refrigerators work on the principle : 4
(1) , Peltiereffect () Seebeck effect
Joule Thomson effect (4)  Photo electric effect 1
S0LE*D B3ETLE SISk dbotH Ko Ko -
(1) 2PaHs $030 2 538 3980 _
@) &S eSS o8 (@)  sob Dex8 5080 |
—_— e
P-T 20-D 1
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105. Heparin is an anticoagulant found jp blood and it prevents blood clotting within blood vessels and it is
prpduced mainly from:

)  Kidney (2)  Pancreas (3}{ Liver (4) Spleen
T30S $E0s° doth el (HBRYoES Sorgsn. 30 59 BET o6’ HESL Hote aotobé® B a5,
20 Joggore 89 S0l aENBHHD -
1) HHso @ Sssw (@) sdcho 4) S5
106. Identify the correct statement :
) The resistance ofa metalli_c conductor depends on the potential difference across the conductor.
(2)  The resistance of a metallic conductor depends upon the direction of the current in the conductor.

(3)  Theresistance of a metallic conductor depends on the length of the conductor.

(4)  Theresistance of a metallic conductor is independent of the temperature of the conductor.
Bob THS® HOII TR HB0SoA

(1) o8 EFH FES ) Wn oo Sty HF) BOYEHS oo P BERESE Hotol.

@ o8 FFH THES Tof) Adn o (H5erod DS BardrEn 6Y P GGRESE Hokod.
@) ol S TS D) Wsn o PGP STEHE Hokwod.

@) 28 &Y LD Bog) Bt SED PSP TBHE HoLe.

107. Match the following:

List-1 List-II
(@) Glucose @ Polysaccharide with Nitrogen-containing carbohydrates
(b) Starch ()  Monosaccharides
(c) Maltose (i)  Polysaccharides
(d) Chittin (iv) Disaccharides
23808003 ¢
=oAL L | &dar - 11
(@) rxs*E () B8 0n aF) FOIFLDE =6HTFEH)
b *H (i) IeIFEBE)
© &R (iii) OILDE)
@ 288 (v) BFEBE)

The correct match is/ 26 J0GS &80 :
(@) - (i), (b) - (i), (c) - (iv), (d) - (i) @ (@)-(iv), (b)- (i), () - (ii), (d) - (i)
®  @-@)0)-@O-0),@-0 @  @-G)b)-)©- @ -0
108. Identify the correct statements : T
(a) Lateblight of Potato disease was the causative factor for the ‘Great Irish Famine’ of 19t century.
(b)  Brownspot disease of rice was responsible for Bengal famine of 1940's.
()  Theinserted foreign gene in Bt cotton offer resistance to bacterial diseases.
(d) Crown gallis a viral disease.
SODS agage oSl
(@ 195 dovgy ‘B 0] 85D’ © SP569 S DOMPERHOH S B B 5 0.
(B) 36 g Borb o) B, 1940 BE506° SOS BorrS KHHS sedmo.
(© BtSBS® STEDHS Xy (foreign gene) erfBchS ryuiiol Bk EDDR00.
d) ESrd 030 o8 385 6.
The correct statements are /30 @oN ALY
M @b @ ®.0 B @) @ (L)

P-T 21-D
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Which is correct in the following ?

Inan electric circuit -

(1) Ammeter in parallel and Voltmeter in series aré connected.
(2)  Ammeter in series and Voltmeter in parallel aré connected.

FRESHERS NOW @

(3)  Ammeter and Voltmeter both are connected in series when the voltage is small.
{4{ Ammeter and Voltmeter both are connected in parallel when the voltage is very large.

& Bod VS DB BoEHEe ?

&8 DSRS0 -

(1) s SSrosborrs, Sepdowrthd FBS5 50D Hotran,

Q) o Fe6%, S sErostord $0b Howroy.

@) 'Y ST aHpe edyn, SPeyen Sotr 386° K0 Hotro.

(@)  S'Ba rer S e ey, Seadwt Bokr Skrostorr 0B Hotrow.

110. Identify the correct statements from the following :

(@) CFCsareresponsible for depletion of Ozone layer.~~

(b)  Water vapour, methane, COE, CFCs, nitrous oxide are green house gases.v~

()  TheBOD value of pure water is 100 ppm.

8o TES® SOTE IBEeD HHoSHW.

(@) &&°S DY SKirie CFCen sebd.

(b) B DB, DFS, CO, CFCen, JB &B)E en (AS TR ciwIe.

€ &G 5® BOD dend 100 ppm.

The correct statements are/ & (H5Sro6® DD SOGID ?

1 @) @ @) 3 (@) @ (®)()
111. Which one of the following combinations are appropriate ?

(a)  Barley, rice, oats, jowar

(b)  Flax seeds, almonds, cashewnuts, walnuts

()  Flaxseeds, oats, corn, ragi

(d)  Oats, corn, ragi, jowar

) @md® @ BEmdd @ @O @  (Qand()

& (80BzrE DB FENDSDI Jiyeso ?

(a) erf, 38, LtSen, €)

(b) ©ddew (Flax), &e8o, AAIDp, E:565en

() ©d?en (Flax), &&5e, IEES), ooA

d) LS, HER), oo, &K

(1) (a)S0a (b) @ (®)()%Bain(d) (3) (a) (B)HO() () () Dbty (d)
P-T 2-D
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112, Match the following :
List-1 List - 11
(a) ’\Sl’il'i'f“ . (i) Cyclotrimethylene trinitramine
(b)  Muriatic acid (ii) Acetyl salicylic acid
() lbuprofen (ii) Hydrochloric acid
(d) RDX (iv) Aryl methyl acetic acid
23S DB :
wrloe -1 &0 - 11
() o30S 0 3PE0z0S (BILDS
(b)  Sg0airdS s3po (i)  AXBS FPSHOE wHo
© =er@DS (i) 3mESStE8 eino
(d) RDX (iv)  BS BS IVEE wo
The correct match is/ a8 $8&S &80
(1 (@)= (i), (b) - (iit), (c) - (i), (d)- (i) ) (a)-(iv), (b)- (i), () - (i), (d) - (i)
() - (i), (b) - (iii), (c) - (iv), (d) - (i) @) (a)- (i), (b)- (i), (c) - (i), (d) - (iv)
113.  Which of the following are energy giving molecules ?
(¥  Carbohydrate, Protein and Lipid
(2)  Carbohydrate, Lipid and Vitamin
(3) Carbohydrate, Protein and Vitamin
(4)  Protein, Lipid and Vitamin
& B0BarRE* ¥8R aD) weHOD HBoSOA :
(1) Y@, PAS Sobaso OBE
2 sBNZEES, ODE S8k DS
(B) sEYTES, (DB S0k WS
4) (S, OBE HBAD DOWS
114. Match the following :
List -1 List-1I
(@)  Chernobyl disaster (i)  Peroxyacetylnitrate
(b)  Bhopal tragedy (i)  Chlorofluoro carbons
(© Ozone hole (iii) Radioactive substances
(d)  Photochemical smog iv) Methyllsocyanate
& (808 TR0 KRS :
erdar-1 adoe-11
(@ 36HBS D58 () DoYedDS JBS
b) ¢S diriso (i) WS sPSe
© &8 Sogo (i) OABrERY Sovgpen
(@)  SoBEIabS AW (v) PSS oRFRIS
The correct match is/a8 $6&@S &°80
(1) ()-(iv), (b) - (iii), (c) - (i), (d) - (i1) @ (@)~ (i), (b)- (v), (©) - (i), (d) - @)
G)  (@)- (i), (b)- (i), (c) - (iv), (d) - (i) @) (a)- (i), (b)- (iv), (c) - (i), (d) - (iii)
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115.  Read the following statements : _
(@)  The biochemical events in the ‘Dark Reaction’ of Photosynthesis occurs in the absence of light.
(b)  Theloss of water from plants in vapour form s eferred to as ‘transpiration’.
(©)  Consumption of transgenic ‘Golden Rice’ prevents development of blindness.
The correct statement /s is/are :
(1) (a)iscorrect but (b) and (c) are wrong
(2)  (a)and (c)are correct but (b) is wrong
(b) and (c) are correct but (a) is wrong
(4)  All(a), (b), (c) are correct
& (Bod [HBITeH eggabso Sabod :
(@) SSmaly SoFrK(EHetd VA8 SE§ 0K ESEIANS Fodew 52088 3HE
aborbacow.
() ©dBErHoE® Inge ol At FehHed TRBEC sotrd.
(€) eRgBSBE FPES BY & 830 Sg woLEE» AG)He ITBoBwH0B.
& (HSSTOE® DB/ $OFSe/D :
(1)  (a) SOGLHB SoR (b) MO (c) KOTHD S°DH
2) (a)SBc%w (c) SOTE oD (b) KOFHRE ¥
(B)  (b)SBA5D (c) SBFKD 57D (a) KODHB S
@) (a), (b), (c) ® JB@BD
116. Examine the following statements about ‘Indian Science Congress':
(a)  The 104%" session of the Indian Science Congress was held at Manipur University.
(b)  The theme of the Indian Science Congress, 2018 was ‘Reaching the Unreached Through Science and
Technology’.
() Indian Science Congress, 2018 was held during March 16-20, 2018.
Choose the correct answer :
()  (a)and (b)only @  (b)and(c)only
@ (a)and(c)only (4) (a),(b)and(c)
‘P8 S) SOV & H0m0B0DE 808 sorred: 58800508
@ &8 DS Sofd @) 10435 DU HBgrs dEOmwaos® 8BRS,
b) ‘wosSEH I Haed / (ool 2N S8akn Bsved oo BBL0’ &3 355630 (§o)s® gr5S
28) SPo@R, 2018 S8rdaren aBrray,
(© &8 D) 5*o@R, 2018 KT &rE) 16-20, 2018 scewod® 8ONOB.
$OFod aareid JodE Sabod :
(1) (a) 200k (b) S»ED @ ()60 () ErED
@)  (a)S0ai () SrED 4) (), (b) S0 (c)
P-T 24-D



117. Match the following :

@
(b)
©
()

Institution/ Council / Commissio
Director General of Indian Coyncjj of World Affairs

Chairman-cum-Managing Director of NALCO
Chairman of Payments Counci] of India

Chairman of National Commissiop tecti
of Child Rights or the Profection

208 A adi5So4

(@)
(b)
©
()

Sog/ TS/ AT

208aHS NS ©H I8¢ ©b) EBEE wdvs
& BYS-85-DIB0R Foys

Do) TYS 6 volakr 3G

SRS EAS H5 6 TBES oF 38 38 © IS

(i)
(i)
(iv)

@
(i)
(ii)
(v)
V)

Officer Name
Vishwas Patel
Tapan Kumar Chand
T.C.A. Raghavan
Shrimat Pandey

Stuti Narain Kacker

®HsD D

e HES

858 w8 $S06
B.2.2. TN
&H8 o

08 ToechE 855

Choose the correct pairs/answers/ S8GS adod / saranid Jods Bakod :

(1) (@), (b)=(i), (c)-@), (d)-(v) @ @-v), (b)), (c)-(iv), (d)-(i)
@) (@Hiv), (b)(iii), ()-(1), (d)-(ii) @ (@), (b)-(3), (c)-(iii), (d)-(v)
118. Match the following :
Central Government Scheme Launched in month, year
(a) National Rurban Mission . (1)  April 2016
(b) Pradhan Mantri Fasal Bima Yojana (i) February 2016
() Pradhan Mantri Jeevan Jyothi Bima Yojana (iii) July 2015
(d Pradhan Mantri Kaushal Vikas Yojana (iv) May 2015
808 B assBSos ! .
S0l (Hgody Bso _ woodwds 3o, Hon
(@ TS BK)S wAS @) DS 2016
b) (B Hoo® HIS Dsoe Foeasd (i) 56 2016
© oS Ho@ A5 &0 D Fresd (i) es~8d 2015
d) BoS S0 THS 5 T (v) 2015

Choose the correct answer// pairs/ 0@ esareni / a8 Jods Fabod :

@)

(@) - (i), (b) - (i), (c) - (iv), (d) - (i) @
(a)- (i), (b) - i), (c) - (iv), (d) - (i) 4

(@)~ (iv), (b)- (i), (c) - (iid), (d) - (i)
(@) - (i), (b) - (), (c) - (iv), (d) - (i)

P-T
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119.  Examine the following statements about Para-Athletics games :
(@)  Deepa Malik won a gold medal in the F 53/54 category Javelin event at the world Para -Athletics
Grand Pix held in Dubai in 2018.
(b)  With this win, Deepa Malik became the world number one ranker in the F - 53 Javelin category.
(©) 2018 Asian Para-Games are scheduled to be held inIndia in October 2018.
Choose the correct answer :
(1)  (b)and (c) only 2 (a)and(c)only
(a) only 4) (b)only
Po-0BBE) 1K) %8003 80b wosein 36800508 :
(@) 2018 6° therond® wbAS (S0 For-6388) (ol B8) ewes® F53/5480R0 &30S &Bo56*
B S0 Ky HESQ) FH0D08.
b) & DecHo8® B $5eOE F- 539308 eriiod’® ($50S Sowb 5§ (1) oo FHoDoB.
© 2018 8HS Foo-AS) oFfnb 2018 &° FE83E08° atibemon.
SOES aTren JodE SaDod :
1) (b)SBakn () Sr(Ead @  (a)S0Bo (c) SriseDd
@) (a)SmED @  (b)SrESD
120.

The Supreme Court on June 5, 2018 allowed the Indian Government to implement the reservation in

promotion policy of SC/ST employees in accordance with the law. What is not considered in the judgement
of the Supreme Court from the following :

(@)  The policy must be in accordance with law.
()  Thejudgement says that the state should make out a case based on quantifiable data.

(c)  Thereservation should not be looked into based on the data like backwardness and overall efficiency.
(d) Comply with Article 16 of Constitution of India.
Choose the correct answer :

(1) (@), (b).(c)only ‘(a( (b), (), (d) only
() (g)only @  (b).(d)only

SL05% @ordmonT (HEeS TgabIrdo 2§ 5,2018 853 HE°HHe DLH0S® Er 5.2, /058, BaiBKS
D) SSTAEIE ©:HDBoNCS. 808 DEAFOE® DB/ BT TyehaEso & driys® JBes ?

@) (a8 derso Sebass Hored.
b) & A (BB0 JOIPFHS KErodo (Toer) sErborT oo 8RS Agabo 8xstad,

(© BoSarendSo, Ingo o Fod Barodo (Goer) sERsorT BaBEE SRS BOaHEDE
(d) P58 TrargoiY BRES 165 KRBT wiBoTD.

[O@S aaranid JodE Jabod
(1) (a),(b), (c)SmD @  (b), (), (d)SmEs
@) (o)3mSD @ () (d)ED
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121. India’s rank in the fGlohal Environment performance Index’, 2018 was 177 among 180 nations. Identify
correct statements in this regard
(@)  Itwasreleased by ‘Down to Earty M agazine.
(b)  Itwascompiled by ‘State of Ingja’s Environment’ 2018.
(€)  ‘StateofIndia’s Environment coyers diverse subjects from air pollution to environmental crimes.
(d)  The top five countries of index in terms of green rankings are Switzerland, France, Denmark, Malta
and Sweden.
Choose the correct answer :
1 (@), (d) () (d) @  @.®),(only () (b)(c) (d)only .(4{ (a), (d) only
oS dUoSHoS VoY) =0aE) 20186° 180 Berod® rEsdEY TS 177 M HBoT. B8
RopoRODY VOER DHBeeH KHBoSos -
(@) & IR0 TS o JF Sm5K&S (‘Down to Earth’ Magazine) Do S%08.
®) B RS &F 30805T JATSDoS 2018 HoseSo F0E.
© O 85 28R IURDotn’ ©BE wores, MO seke Mol JTgEsn BH S8 PY
ool H040%08.
@ & &rDS° IO wantd Paed woll (AS toloh FPobd Baven DX08 BLTof, (F°Y), E35rE),
S, DS,
HOTDS esarenid DodE TBahod :
M @OOGd @ @OOED> @ 6 AOSED @) () (d)IED
122. Examine the following statements related to national integration :
(@) Preamble begins with ‘We the people of India’.
(b)  Directive principles of Indian Constitution direct the states to take steps towards bringing equality,
justice, liberty to all.
Choose the correct answer :
(1)  Both (a)and (b) are correct (2)  Both (a)and (b)are incorrect .
( Only (a) is correct (@  Only (b)is correct
2B HHKBD SowododS 8od woswid $88D0S0d :
@) ‘S0 grosdd Bavorto 8 g TRl [EB8E (Sairoms) AnteHos.
(B)  gr58 Tamorih DAY (wB88) WrEred woBE SErSEo, Ao, Ty EQOT BT S
808 rol ool 8BBI0D. ' '
FOEN wTrendd JodE Savol :
(1) (a) B (b)Botkr HOTHD (2)  (a)oBc (b)Botr SB@DID s°
@) (a) s $6@SH (4  (b)SoED So@I
P-T 27-D
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123.  Examine the following statements :
(@  Governor's rule has been imposed in Jammu and Kashmir in the third week of June 2018.
(b)  B.V.R.Subrahmanyam was appointed as the Governor of Jammu and Kashmir.
()  The Director General of Police of Jammu and Kashmir isSP. Vajq,
Choose the correct answer :
(1)  (a)and (b)only ) (b)and(c)only
(3)  (a)and(c)only @~ (a) (b)and (c)
808 worred H88DoS0d
(a) edoy-soB)F & KSGE oS 201828 JrdS 606" Dot
(b)  esoy-s8)B K5GE B.V.R jpeso Aabodarntd.
(© wsoy-sB5 ovapR8 SP. 35 Zog6 xxvd 6f AT m e,
DOGHS aarenn JodhE Tahol
(1) () SoBasm (b) L& @  (b) 58k (¢) S
@)  (a) 0B () Em(@ad 4) (), (b)anOci» (c)
124.

Which of the following statement/s is/are not correct as per the ‘Andhra Pradesh Reorganisation Bill -
2014" ?

(;;\ Polavaram Irrigation Project to be a National Project.

(b) Hyderabad to be the common capital for Telangana and Andhra Pradesh states for a period of ten
years.

()  Governor to be common governor for both the states.
(d) Common High Court for both the states for a period of one year.

Choose the correct answer :

(1) (a) and (b)only (2) (b)and (c)only

(3)  (c)and(d)only @ (d)only

‘WoHBE HIB SBHELEm SQo 2014’ (SB0 & Bod [BSSIS0OE DB/ FBewIB/D T ?
() oo FHVG FBLS erbadh FBYT HOKAFG.

b) weolf, 8vomrs alh o) rEoverds a8yl CREAM™ I8 SodIore SEKH
aotnob.

() Doth Epe &8 KSE% dotr,

(@ o8 J058)5H sPw0 en Dotd TP KOS ays FPER sotod.
SOEo% e JobE Babod

P-T

(1) (a) S0ak (b) Sr@d @) (b)SBak (c) SmED
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125. InJune 2018, the Union Cabinet APProved the final extension of tenure of the Commission constituted to
examine the issue of Su l".categmiz-ﬂtion within OBCs in the central list. Identify from the following what is
not correct in this regard :

(@)  The Commission is headed by G, Ropin;

(b)  The date was extended upto 37st July, 2018.

(©  The Commission was constituted under Article 340 of the Indian Constitution.

(d)  The Commission was supposed to give its report originally by 20t May, 2018.

Choose the correct answer :

1) (@), (®) () (d) 2 (@) (b),(c)only 9)/ (a), (b) only (4)  (d)only
25 2018, &° S0l HoBBH0LD 4..8.%, IB-soereBAS © Jowohod Qo TR BRI (P0g) GwEy
SoBOWBY DIOFO TEACH ©uHBodon. £8 HonoBoDs SO SIFFHOH HQoS0R ;
(@) & 5SS 8. & oiBsos® 8.

(b) & EDES SPoD8LBA 31 278, 2018 5% SERT.

(©  &r8S orargoros® wBES 340 805 & EES L5%E00SDEB.

(d) & SWAS B3 OV D 20, 20185 mFgSed GoBoB.

S0 aarad JodE TaHod

O @OOd @ @b.0ED @ @ bO)EED @ (gD

126. Which of the following statements are correct about GST ?

(@)  GST s to be collected at point of Sale.

(b))  GST abolishes all direct taxes levied in Indiage

()  Implementation of GST was started on 1% July, 2017.

Choose the correct answer :

(1)  (a)and (b)only (2  (a)and(c)only

(b) and (c) only @  (a),(b)and(c)

GST & So20500% 8o eBS° $BSD 2D ?

()  GSTR esyfo 26n (HBH0s® Sireo TR.

(b)  GSTgro8d406% e (S S 86 Tkod.

() GSTemB1,2017 ol o8 5)ob.

SO 2arenis JoDE SaHod

(1)  (a) &Bcto (b) S5 2 () B () S
@) ()0t (S 4) (a), (b)DHBat» (c)
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127. Based on the Indian Air Force (IAF) order in l?"f‘t‘:m 2016, the Supreme Court UPheld the order o
banning the beard to Air Force personnel. Identify {€ €OTect statements from the following
(@ Article 33 of Indian Constitution gives the authority to Government of India to restrict Fundammw
Rights 1 . .
(b) Thgt‘:::rl:;:c‘::tn: i:::othmg to do with religious sentiments.
(€©)  OnelAF personnel appealed to the Suprem® (.:mm onthe matter.
(d)  Supreme Courtupheld the order of IAF banning the beard to IAF personnel.
Choose the correct answer :
M, @00 e ©.0@ony
(a), (b) only @)  (c).(d)only
Eoeb 2016 & g5 (Seod TEHLIo 89 856° erss Jarns B0 wbINS ’:5 a8i%
?3&%080&. & agtixn (Hs°80 oS DIPRAE &608* HF% dgyob (1%&5135&3 2osoedh. B8 SowoBots
BODS o (D5Bmes) Jods 5ol -
(@) erss U“E‘a‘oﬁoﬁea 135 ggéﬁ oo e @@B‘S&)Q é&ﬂr&)é Bod® 3930 =0 Ajdbost
OSIES ot FEDE S DaDoS” SAS JmoKer DGoIHSY
b) & Jposted HESES VeI Sowodo 8.
(© 69 DD o8 63 AL 5F Dgob B8 (SeS TapPar08 HoRD TP
d &0 @erd agabrdo, &8 B5rE B¢ efshenr adyd KESHDH DOSTER) adtixd
ééngo{)o&.
JOIS asarmnd JodE Fabod |
M (). b)) (d) @  (b)(c) (d) S
B)  (a), (b)&nSH ORGACIET =
128. Examine the following statements about 2018 Wimbledon (women's singles) tennis tournament :
(@) 2018 women's singles Wimbledon tennis tournament was won by Angelique Kerber.
(b)  She defeated 36 years old Serena Williams by 6-4, 6-3.
(6  The 2018 winner, Kerber, a 30 year old German, was 11" seeded at the start of the tournament.
(d) This is her first Wimbledon title and third Grand Slam including Australian open and US open in
2016.
Choose the correct answer :
(1)  (a),(b)and (c)only (@ (a)and(d)only
(a), (c) and (d) only @  (b).(c)and(d)only
2018 Domes (irfe Bohd)) BYS SRl 80b ISEHeD (sowre) 36800508 :
(@ 2018 H2rte HoNG) DomwS BYS &°6)otSH JoadS BHF AurHHod.
b) 363058re V0T DO 64, 6-3 BeeS® 3G)6 L8000,
(© 2018 Doz Hree DS, 30 SoSamyre aBs eows 3GB & SGPoS sbogod® 11 5 HEm
aolob.
d =0 eH IeINEE DoweS BAS S0 2016 6° FHODS BRI LS, 0.6, LS &
SenHEol HrES ol 1D ©HHod.
SOTS arand oD S0l :
1) (a), (b) DB (c) SrSD @)  (a)S0cm (d) SMSD
@) (a) (c)SDBak (d) SrEd @) (b), () H00Em (d) S
P-T
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Examine the followmg paus . FRESHERS NOW

Author

Book Title

(a)  SouravGanguly - & GanpuryisNot —
1 S s ) Aslaleof'fre«edom v

Sanjaya Baru
(2) Am}:nyy Sen ~ The Accidental Prime Minister : The Making ......... v

a

( " Theldea of Justice
Choose the correct pairs/answ ex

#8 (@), (b)and (<) only

2 ’ d (d) only
() (a)(c)and (d) only 2 (b).(c)and (d) only

) (@), (b)and (d)only

808 wdoid 38800508 -

35380 2 (woffos’)
(@) RFOS oD D R0 &k =5 255
(€ Romcd 2% .

(d) =58 - & ola o5 285

1) (a), (b) & (o) SHSD @ () ()50 (d) 2D
B) (a) (c)=Bak (d) 58D @ (@) b)SeaD (d) D

In the Swachh Survekshan 2018 rankings announced by the Ministry of Housing and Urban Affairs,
Government of India; in the category of over one lakh population, Greater Hyderabad, Warangal and
Karimnagar secured the following rankings :

(1) 22,49 and 76, respectively 2 27,31and 73, respectively

(3) 38,47 and 85, respectively @)  27,38and 77, respectively

1 BB e IgSFro OB P, TS (66303 BSB0SES ) SHEE 2018 oyo8of)st
Mw,mmmwtwogmmmwﬁoém@m
SiPyom ?

(1) Sdre 22,49 S8dm 76 @ e 27,3100 73

B) Db 38, 47 20k 85 (@) S%re 27,38 S8k 77

Which instrument was produced by blending Indian Veena and Iranian Tambura ?

()  Guitar @ Violin #  Sitar @)  Mandolin
m&mm@n@smmémwmﬁgmm?
(1) Ab 2 5308 () we&b @) S»o~0S

P-T
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132.  Assertion (A): The British East India Company was established i England to have trade relations
with India.

Reason (R): The balance of trade with Englﬂ“d was always favourable to India.
Choose the correct answer :

(1)  Both (A)and (R) are true and (R) is the correct explanation of (a),

() . Both (A)and (R) are true but (R) is not the correctexplanation of (4),

@ (A)is true but (R) is false.

(4)  (A)is false but (R) is true.

SODEE(A):  erosSost smeo §6% 300l 8D sty molase 5 Hosn RBOSEER
SEesn(R):  mopot 88 myEin HYEr U8 BERS ovgdam SSIND.
R[OS aarand Jod Babod :

(1)  (A)%5Bck» (R)Both Jesio (R), (A) $B@D DHBe.

@) (A) B0 (R)Boto Desiin 5o (R), (A) £ HOFR e st

3)  (A)Qexw, = (R) S,

4)  (A) 8, =0 (R) desiso,

———

133.  Who among the famous industrialists served as Treasurer of Indian National Congress for many years ?

(1) GD.Birla () JamanlalBajaj (¥ JRD.Tata (@) W.Hirachand
808 (Sdop FOENETEost B rd 83H SoREH oreo SPO0 FoEN g aHse0mr
S0EG ?

1) 2.8 dxp @ efrSedowd () Beblier @) Eap Sroesod

134. Arrange the following Chinese Buddhist travelers to India in their chronological order :

(a) Hieun Tsang () WangHieuen Tse
(© Itsing (d) Fahien

& B0b B TG GBSV s08cSr SRS SPrEHonT ety :
(@ SoaseS Ao (b) PR S D

© =8pR (d) >

Choose the correct answer /S0@ha aarandd QODE :
;X{ (@), (), (), (d) @ (@ b)) @ (d).(a), (b), () @  (®)(d).@)()

135. Give the chronological sequence of the following dynaéﬁ&s of the Delhi Sultanate :

(@) Tughlugs () Slaves - (©  Khiljis
(d Lodis (€ Sayyeds -

Bo& Ko &5 Herde So¥ (S0 Beg)dn :

@ & b o8 Sodgen () e
d &8 Derom (€ ddkigthen

Choose the correct answer /SB&0% aimrendy Job¥ Badod :
M ©@®LeE.d @ @©0.dae @ @ @), (). (d).(e) & ().(0).(a) (e). (d)
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136. The army thatSubhas Chandra Boge established during the independence movement was :

Revolutionary Peoples Army @) YoungIndiaArmy

(3)  Progressive Peoples Army @ Indian National Army
758 Ayolly 08 SHBOE Soea 5005 g 5BoDi s
() D3ergSdh 858 e 2) oo soldir eb)
@) EOhS boY) Q) @) =080S J83S 6b)
- T ——
137. Match the following :
Mahajanapadas Capiitals
@) Magadha )  Mahishmati
(b) Kosala / P @ Girivraja
€ ek (i) Sravasti
() Yaisa (iv) Kausambi
808 B 385GHHw :
SoSFesddTren Sopgsieres
(@) G () Setryd
b &e (i) AOSes
() @308 ' (i) (55
@ 58 : (v) TReod
Choose the correct answer /B0GHS asaraoid Jods Sabod :
(1) (a)-(i), (b)), (c)-C), (d)-v) @ (@) (b)-(i), (c)-(iv), (d)-(iid)
&7 @), (bHiv), oK, @10 @ @) B, 0, (@)
138. Which of the kings in Indian history and the works authored by them is correctly matched ?
(1)  Krishnadeva Raya - Samarangana Sutradhara
(2 Mahendra Verma . . _Mattavilasa Prahasana I
}3{ Bhojadeva - Manasollasa
(4)  Someswara . Amuktamalyada
8ot Bendnhs mawen, 03 (Fabols 53506" SO aSBEIIAIH 26 ?
(1) ggdsoraben . Sdoolie SESES
(2 Sdros 4 _ Bo8DeeS (BN
@) &= ds . BedREeEd
@ DS . edogsress
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Which one ot the follow ing codes was not prescr ibed by Ashoka in his rock edicts ?

139,
(1) Obedience to parents, teachers and elders.
()  Abstention from killing of living beings.
Pj’ Accumulation of wealth.
(4)  Attachmentto morality.
o e 8% b sosed® Boiio ol GP00S Bk ?
(1)  SDsolen, HBREd S0akn Do B A Talesv]
@) &S o grdore Rotitio
@) GTES
@) 8% Do Sl Hoto
e
140. “Honest, but a Bolshevik and for that reason very dangerous” - who said this about
Gandhi ?
(1)  Lord Willington Q{ Lord Irwin (3) GeneralSmuts  (4) Berkinhead
wemonddtds, S0 HENE DY BIrEEEDY 568" - rogdn oo & (8D BSE DB
;J“a)‘gﬁ)oﬂ)@ ?
1) egapofixs @ of 9058 (B)  wssS ) @ BONTE
141. Match the following dynasties with the names of the prominent kmgs belonging to those dynasties :
List-1 List-1I
(@) Prathiharas () Bhimal
(b) Palas (i) Krishnal
() Rashtrakutas (iii) Mihira Bhoja
(d) Paramaras (iv) Siyakall
(e)  Solankis (v) Gopala
Bots Ko Trassomen ©@ohE [HHE Trarod> adSthn ;
SoiS - 1 Sos - 11
(@ 830 0 oI
®) o @ &I
(© or@srioe (i) D028 &
(d) SrvSrHen (V) DCRET
() Rfoolden | W) e
Choose the correct answer /30@0:% aarand o Dabod :
1) (@)-G), b)), ©-Gi), ()G, ()-Gv) @ (@), ®)-(v). (), (d)-(iv), (e)-()
@ (@) OFW) M@0, 6 (@) @6 O V) ) (i
P-T
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142. Match the following :
List-1
(a) P:lsllavas (i) List - ]!
(®)  Cholas 7 i) ‘;:I::El
()  Viayanagar (1))  Mahabalipuram
(d) Hoyasalas ) Tar
BoB B 2855w : e
fm”l 865 - 11
@) doDe 0 oy
b) e () Bews
©  DucHSKE (i) SFopHs0
d FodHIeven ) o
Chopse the correct answer /RO asameniy Joby Aakoh :
Gy (@)(i), (b)), (0)-G), (d)-(ii) e s i i
‘ : ) (a)-(ii), (b)-(iv), (c)-(), (d)-(3)
¥R R, (e ) (i) @ (o (M), -, (-0
143,

It was against the British Indigo planters.
(2) Itwasagainst the money lenders,

(3) Itwasinsupportof occupancy rights for farmers.
(4) Itwasagainst the increase of land revenue by 22% by the Bombay Government.

1928 6% @BAS 28°0 HeEnyf:#08 Komotsin B2 T MBS ;

(1) ©& Do See DED datried SBBE.

(2 ©b Sgangrshes $BBT 8BRS,

(3) - b SHH S SoarBoSTEIS 2bA.

4) B droeron (H2H850 22% &r8Ky wHKrT DGoHS JBBLorr ESINSS.

}ljlzntify the incorrect statement about Bardo]j Satyagraha of 1928 :

144. Match the following :
List-1 List-II
(a) Kalhana (i) Harsha Charitha
(b)  Banabhatta (i) Panchatantra
() Kautilya (i) Raja Tarangini
(d)  Vishnu Sharma (iv) Artha Sastra
(8od HY eSSBS :
S&d -1 S - 11
(@) Sew % () g S8
b)  ereagiy (i) Howsso
(€ B8y (i) ores SBONS
d ¥ (iv) of TR
Choose the correct answer /38&% asarai JODE Sahod :
(1) (@), (b)-(i), (c)-(iv), (d)-(ii) @ (@-@), (b)iv), (c)-(ii), (d)-(iii)
(@)-(ii), (b)-(i), (c)-(iv), (d)~(ii) @) (@)(i), (b)-(id), (c)-(i), (d)iv)
P-T 35-D




145. Match the following:

List-1
(@) IbnBattutah
(b)  AlBeruni
() Isami
(d)  AmirKhusrau
(¢)  Minhaj Siraj
808 A edSLDHI :
SBS -1
(a) =S Dob
(b) oS BN
€ s>
d) ©& e
© DS Do

Choose the correct answer /R8G0S &

1)

List-1I

()  Futuh-us-Salatin
(i) Kitab-i-Hind

(iii) Tughluq Namah
(iv) Tabatqt-i-Nasiri

() Kitab-ul-Rahle

SS -1

Q) D8 —05-JB]
(i) BSeS-a-trob

(i) S T

(v) oos-a-30
v) Baf-aS-5:p

(@), (o)-(i), (0)-(), (d)-v). @-(v) @
B (a)-(v), (b)), (0-(), (@)-Gii) @) )

e Q0d¥ Schod

(@)-(i), (b)iv), (c)-(v). (d)(iid), (e}-()
(@)-v), (0)-(i), ()(iv), (1), (e

FRESHERS NOW
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146.

147.

Examine the following pairs and find out the correct answer :

(a) Babul - Thorn forests

(b) Neem - Evergreen forests

() Pine - Tropical forests %

(d) Teak - Deciduous forests v~

Choose the correct answer/ pairs:

(1)  (a)and (b)only (2) (a)and(c)only

@)  (b)and(c)only @y~ (a)and (d) only

808 wsoiod SOEE JErErR) SMrFSod |

@ eed - Swolf vEe

b 3D - RES SOTRSeTD

© BN - efdood elw

d 8% - ey BEHe

2O sad/adol> JodS Sabod :

(1) (a) BB (b) SrFD @) (a) S0 (0) SHID
(B)  (b)0a () SrSd @) (a) 00 (d) SHED
The states with the highest percentage of urban population in India, as per 2011 Census in descending
order:

)

)
@)

Tamil Nadu, Maharashtra, Gujarat ~ (2)
@  Maharashtra, Tamil Nadu, Gujarat ~ (4)

OSBH0S® 2011 esarer BE® (SS80 BEHE Siee BT 80 Ko e, o3& (Eos® :
SDETD, Hboey, e ()
BForg, SED, 1Deces )

Tamil Nadu, Maharashtra, Punjab
Maharashtra, Tamil Nadu, Punjab

SETL, DI, Sowes
Sosthori, SDETD, Sourd

36-D
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Match the following, :
List-1 (Mangroove site)

(a) Karwar List - 11 (State)
(b)  Coringa (?) Od is'h a
()  Pichavaram (i) Tamilnadu

(i)  Andhra Pradesh

i i iks
(d)  Bhitarkanika (iv) Karnataka

808 B0 adH8Sod :
Do - 1 (508 w8He %260}

5 ardoe - 11 (WQO}
g; s () oo
O  H%S6o (i) S
(d) OeeB8 (i)  woy HBE
(iv)  Bomws

Choose the correct answer/ Pairs /%8 g _
) @0, G, (M), [y o BTSSR dobe Savol

@ (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

149.

@) (@) (b)-(ii), (0)-ii), (d)-(iv) (a)-(ii). (b)-(iv), (c)-(ii), (d)-(i)
_____‘_'-"'"‘-—-—.__

The lake Vembanad is located in :

(), M SE canst (2)  Coramandal coast

Konkan coast
4)  Utkal t
JoersE B8y agSien : 4) al coas
() seas bso 2 &sous o
(3) &0885 &%o W o bt
150. Assertion (A): Delta formm — .
Reason (R): Indian western coast seen along the western coastal plains of India.

al plains are more broader than the eastern coastal plai
Choose the correct answer ; P,

(I) Both(A)and (R) are individually true and (R) is the correct expl :
——— planation of (A).
(2)  Both(A)and (R) are individually true but (R) is not the correct explanation of (A).

(A) is true and (R) is false.
4) (A)isfalse but(R) is true,
BOFES (A):  erEERE 58 BY Drwarest Ber D)Ko ©rHhoS.,
=860 (R): EPOSBY D)% B8 Prrmren dxtbs BrmreLos QS DHBEDID.
J0@S azreniy JodE Babod
(1) (A)00ak» (R) Dotr 2 S8 (R) 036 (A) 6 $0@% Dsbes
(2 (A)5Ba» (R)Botr 2.8y) %0 (R) 036 (A) & $6F% Dedtes s,
B)  (A)eId 2y 56d (R) o3 83
(4 (A)e36 83 s (R) o030 2y

151.

The states which occupy first and second places in sugarcane production in India :
(1)  Andhra Pradesh and Maharashtra

(2) - Uttar Pradesh and Maharashtra

(3)/ Maharashtra and Andhra Pradesh

(4)  Maharashtra and Uttar Pradesh

TFBERIS" Tt 8BS (e B Bydas Pos® S5 odpen :
(1) @o§SEE Hobatn Siskorig
) &IBHEE SoBckw Sossboe(gy
B)  SFoG S8k wosHEE
(1)  SForg S8k aguHds

P-T
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152.  Match the following :

List- 1 (Doab)
(@)  Bist (i)
(»  Bari (i)
©  Chuj (i)
(d) Rechana (iv)
800 O wSIBSod

Do -1 ($8 wodt Hreo)
@ 0
® oo (i)
© o8 (i)
(@ By (iv)

FRESHERS NOW P l

List- 11 (Rivers)
Ravi and Chenab
Chenab and Jhelum
Beas and Ravi

Beas and Sutlej

0 - 1l (Sthen)
o0 B DS
Daed Bk deo
AR SO T
DASES S0 $TS

Choose the correct answer/ pairs/S8&> are0 3805 JodE Fahod :

Q) (@) (o)), ©-(iv), (d)-Gi)
@ (@), (i), (-G, ()-v)

@) (@), b)), (0)-(i), (d)-(i)
@ (@), (b)), (c)-(i), (d)-(1)

153. Read the following statements:
(@  North India receives rainfall from westerly disturbances during winter season.
()  North-East monsoons gives rainfall to Tamilnadu.
(¢)  Indiamostly receives rainfall from North-East monsoons.
Which of the following statements is/ are correct ?
@ (a)and (b)only @  (b)and(c)only
3) (a)and(c)only @) (a).(b)and(c)
808 SBROD SES08 :
(@) deroos® S stoste S aZY OSBRSS0 FrS0B.
b) SE endSdTes SHETHD SEErEe RO,
@ erostedl Sl apdsdve Sg 0fs Sgrso ofRob.
HBS® SO S5Bren DD ? |
(1) (a)%oBaiw (b) SriEd @  (b)H0c (c) EmED
@) (a0 (o) SED @ (@) (b) (o)
154. Zawar mine in Udayapur is famous for :
1) Gold @ Mica (;/ Coal @)  Zinc
A5aHGEER ub e DBB (S0 :
(1) woormdo (2) g5 @) & 4 S
P-T 38-D
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155. Match the following :
D R uclear power statiop, List- 11 (State)
(a Kakrapar . ,
(b) Rawatbhata E‘)) galj)asthan
s u J .
EZ)) II;:lr%ara (i) Gujarat
808 B aS5E30A - (v) Samateks
o -1 ( b
(@) sE6 B #2011 (7o)
(i) oemS
H8ere ®
®) ; (i) &3% B35
© & (i) rO2&
d) 6% () Somps
Chopae the. correctm e{/pairs,' 55@’«'5 2Pend/a808 JodHE Idhod :
& S an N @) (@) B+, (-G, (d)-v)
)RR Ee) [h) @) (a0, (M), (Hiv), (i
156. Assertion (A): Black soils are formed dye to : 1 k
; Black so; C waathe1:mg of basaltic roc
g;zs(')osz g: correct ans:ve:?ﬂs ave high moisture retentive capacity
(1) Both(A)and (R) are mdf"idua]ly trueand (R) is the correct explanation of (A).
2)  Both (A)and (R)are individually trye p : : )
%3] )i trie and (R} falee ¥ true but (R) is not the correct explanation of (A).
4)  (A)is false but (R) is true.
B8FES (A): 2 200 BReso So Sedia G008 e,
w0 (R): SONE giriiven 56K 8o DevyEio o0 Ko,
BBGS 2T JodE Sdhod ;
(1), (A)S00 (R) ok e.iy) S0 (R) wda (A) % 350G D38e.
K (A) 506 (R) Botr 2.3) 29 (R) o6 (A) % SB@S DSBes ot
B) (A)o38 afy) S8 (R)e3d &),
@ (A)edd 83 =D (R) et 2.3,
157. Assertion (A): Pune, which is located near Mumbai receives Jess rainfall as compared to Mumbai.
Reason (R): Pune is located in the leeward side of western ghats and Mumbai on the
windward side of western ghat.
Choose the correct answer :
(Y Both (A)and (R) are individually true and (R) is the correct explanation of (A).
(2)  Both(A)and (R) are individually true but (R) is not the correct explanation of (A).
(3)  (A)istrueand (R) is false.
(4)  (A)isfalseand (R)is true.
BBES (A):  Sworrow BB K0¥) B Swoerap Ko SES SEFreeR) Frothsos.
%60 (R): TB YD EHdeH I3 Sovaywo 3H @od. LR Swozran HHH Lo
BS5S eddoporr aobd. '
SOTod wrai JodE Idbod -
(1) (A) 5835 (R)Botr 2. DOA (R) 630 (A) S SB@oS DSBes.
(@) (A)H0as» (R)Bokr 2.5) 59 (R) 36 (A) % SO@S D560 s,
G) (A)els 2.39) $0akn (R) &30 $3).
@)  (A)sde sy = (R)edo 2
P-T 39-D



158. Read the following statements:

(@)
®)
(©)

(M)
@)

River Narmada flows inarift valley.

Vindhya mountains are located to the south of river Narmaqa.

River Narmada is a west flowing river.
Which of the statements are correct ?

(a)and (b) only
(b) and (c) only

808 Do SKSob

(a) S 56 dbEEO rbow SSPR00.

% (2) and (c) only
) (a), (b)and (c)

(b) SEoe 368 Ko Doy DB STYOD.
© Xoe 36 Hore BSerod 8.

@ (@)H0cks () s
@ (@), ()i (o

~—t

\%)7’ >

D

FRESHERS NOW
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159.

The states having highest literacy rate according to 2011 Census were :

66 JoFR Dstren 2D ?

(1) (a)%005o (b)SrED

(3)  (b)Sodasw (c) S

(1), Tamil Nadu and Punjab
Kerala and Goa

(2)  Kerala and Punjab
(4)  Keralaand Mizoram

2011 g BEe (560 OFRS oFoPRyS aF) Tlapen :

1) ST Hdakw Hoard (2) S6¢ LB Homrd
(3) B8Y S0 AP ) 3¢ HBAH doro
160. Match the following:
List-1I List-1I
(@) Mountain Etna ()  Block mountain
Aravalli ii)  Young fold mountain
?2 Himalayas /7 Eu:) old ffld mountain
(d) Vosges (iv) Volcanic mountain
808 B 2858508 -
o -1 ardae -1
@) Qe Skdo @[ epB Sdo
b) oS (i) oS0 SwEd Styo
(© erdrediren (i) e Sorsd Jego
@ &3 (v) of StEo
Choose the correct answer/ pairs/38@0s siaravib/adod JodS Schod
(M) (@) (o)), ©)-v), (d)-Gi) @) (@), (b)), (c)(i), (d)-()
@) (@)-() b)), (c)-{ii), (dHiv) 44( (@)-{iv), (b)-(iii), ()-(ii), (d)-()
P-T 40-D
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161. Examine t.he following Statements about the following articles of the Indian Constitution :

(a) .‘\rt:u:l;-J 245 of :ihw hd1@ Constitution states that the powers of both parliament and state legislature
are subject to the Provisiong of the Constitution.

®) :)E;g;c;seei iel:sonl Is d.irected to give his voice sample during the course of investigation of an

: @ Violation of hig right under Article 20(1),

Choose the correct answer -
Both d

(1)  Both(a)and (b)are correcy ,@( Both (a) and (b) are incorrect

(3)  Only (a)is correct &) Onlv(b)i :

& orergoKostD 808 ® g
i e R SC R Nomogods oo $64003504 ;
@) &r8S Teergorosty 245 ©0Y5m0 I SERRS
ot HBAL THE) BRS Hefen oremoX JwolSe Sfeld

SVFaired I Hos. 2 @ e oy

b) 6 2"'6566 PO G Sk 3o &8 JodER) «B8Y 20(1) ©558H0 (S0 © 6ddo
S DY) 8903000ty sus,,

JOES e J0dE Faho -

(1) (a)30Baio (b)Bokr BG5S @ (a)50ck» (b)Bokr SOTID 52

@) (a) SRS KOS @  (b)SrES $OFSE

162. Match the following :

List-1 List-II

(@) Narmada bachao andolan ()  Sunderlal Bahuguna

(b))  Chipko movement (i)  Daripally Ramaiah

(c)  Biodiversity concept (i) Medha Patkar

(d) Vanajeevi (iv) Edward O Wilson

(v)  Michael Greenstone
808 8 2858508 ¢

05-1 : 03-1I .
@ I oS oS () DosBerd exsorben
b) 098 wostys (i) B oododsy
© &5 3065 erss (i) e dend
d 5549 (V) G & denS

() oS ASYS
Choose the correct answer/ pairs /S0@8 asran/aseisH dobs Sdhod :

(D) (@)(ii), (b)~(i), (c)-(iv), (d)(ii) @ @), b)), (Hv), (d)-(v)
(@), (b)-(i), (c)-(iv), (d)-(i) @) (a)(), (b)-(iv), (c)-(v), (d)-(i)
P-T 41-D
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f,N.N. Wig Who expired on 12th July 2018:

163. Examine the following statements about Pro
(@)  Prof. Narendra Wig was amongst the forem0St Psychiatrists of [ndia.
()  In 1991, the Royal College of Psychiatrist London honoured him with the highest award of the

Honorary Fellowship of the College-
()  Heis the second Psychiatrist from India to be honoured with that award.
(d)  Hewas the chairman of the World Health OTganisation (WHO) Advisory Panel on Mental Health.
()  He was born in the West Punjab district of Gurjanwala,
Choose the correct answer :
(1)  (a),(b),(c)and (e) only 2  (a),(d)and (e) only
(¥ (a), (b)and (e) only 4)  (b),(c)and (d) only
&8 12, 2018 ot KPS sty N.N. IR 10800 808 JSBRedH (worred) H08D0P0E
(a) o8B0 Bt DolgB0es® SPSRE Qepros® ey SBos IR e HFFES S8
b) 19916 ‘TchHS sBS &9 @gcﬁ?@@jﬂ ©OES T8 FSEE AT 6 & 8L’ wfgHS @5-'325056
»&Y, FEDok.

© & o8t mEdosey robang] a8 0ok DSREF
(d)  (BHoS 6By Koy SrINE e8%0P SO HoLDS wsk FYST sodld.
@ o055 58 5056’ HOETIT Berd® aomid.
$O@ois warendy dod¥ Saob |
(1) (@) (b), (c) S0 (e S @) (@) (d)0un () SeEd
(3) (), (b) 5B (e) EHSD (4)  (b),(c) Ot (d) S

164. As per ‘Socio Economic Outlook - 2018’ and 2011 Census, the following districts have lower sex ratios in

Telangana. Arrange them in the descending order as per sex ratio :

(a) Hyderabad (b) Wanaparthy () Jogulamba Gadwal
(d) Rangareddy () Medchal ()  Sangareddy
Choose the correct order/answer :

(1) (@) () (d).b)()and () 2 (o) () (d) (f) (b)and ()

o @@, 0.0amd© @ (©.0,0)) @and(d

NG JESWE TeSens - 2018’ SOk 2011 wwrer B (HSeE0 Boorre &9 80b Berod® Dol (Bon¥)
0:5)8 LS dob. & Bepud Bons A Heeso eI EH EsSo08® @80l :

@ ooved b) $556 © &roeron Koxd

(d Yorral € DS (® Horedd

$OGo: [EHo% / eTrenid JobE Schod :

1) (a), () (d). (b), (c) 0O (f) @ (e (@) (d) (@) (b)0 ()

@) (d)(a) (e). (b), (f) DO (c) @ () (), () (e), (a) %0 (d)
P-T 42-D
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165. Examine the following statementy regarding the Fundamental Duties :
(@)  Article 51 deals with the Funda mental Duties. Y~
u .
amental Duti i ;
) Fundamen uties were INcorporated in the Constitution through 42"d Amendment Act 1976
(€)  Fundamental Duties cannot pe enforced by ‘writs’
; R
(d)  Fundamental Duties cannot pe Promoted by Constitutional methods.
Choose the correct answer :
()  (a)and (b)only @ (b)and () only
@ (a)and(c)only @  (a)(b)and ()
(S WE Do Sowofod) 8o VOO 58400508 -
(@) ©BSS 51 (@FWE e 8ey%Hoa
(b) 1976 Sonsy 4235 Toeso Jsscs TR (o508 Dederdy DeotHDET#D.
() ‘B8 oyoe (D EDE Do vy Sawdo,
(@ cemor SEHOS" FENE Aebesr F8oder Saudo,
HOFN ey JodE Savod
(1) (a)%00ak (b) SrigDd @ (b)50B (c) S
@) (a)Hbov (c) SrED @  (a), (b) 5B (c)
166. Regarding the state bills reserved for President’s consideration, examine the following statements :

P-T

(@) President may declare his assent to the bill.

(b)  President may return the bill to the state legislature for its consideration.

(c)  Statelegislature shall reconsider it accordingly within a period of six months.

(d)  Ifthe legislature again passed it with or without amendment, President shall approve it.

Choose the correct answer :
(1) (). (b)and (c) only (2 (a), (b)and (d) only
(b), (c) and (d) only (4)  (a)and(c) only

oYER8 Tobs Dey TFOIS wroRS B0, TFHB ©HSTI8 $owosod 808 DBmeH 68030k |
@ PS8 & Den SodEo FehS).

b) TFEDS I HI:5080% FEH TgHs 83 Sodd).

© TFE8 S wrdmone o ERS B¢ 6300 69 H%:508D0.

@ S58008° Mo do sstnen BHom MR BoUSFD Tof E55 34 wIraR, TFHs S5Rs0m

Jo880 Ba5rd.
SO arad JodE IaHod :
M) (a), (b) B (c) S 2 (a) (b)H0a (d) SrSD
G)  (b), (c) S0a (d) ErigD @) ()0 (c) SmSD
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ard, examin¢ the following statements :

]67. “ 2 Al S W 'S, I “ .\. 1 A 2
E:;rh ‘“:I;‘l‘\:|:::‘i:::|l'l:i‘i\i:ll' ;:m::,:.:.{::illq can be introd urcltl in either house of the parllafner;‘tc,)um
m Al mo;nlu'rs ol Ilt‘\' parliament have the righ! ‘“ll)nln;q!_,ru bills in their f"‘P"dwe —
ill may be {uced either by a ministcr 0T by a private member. .
%fi)) #al:l:l:l‘ll I‘{\a.-lsulr:'l:“lrin]:t:ll:lti;I:vId‘in b official gazette before its introduction, 10 nvoion fur: leawe:to
introduce the bill is necessary.
Choose the correct answer:
1) (a), (b)and (c) only (@  (b)(c)and (d)only
@ (a), (b)and (d) only @ (@) (c)and(d)only
oS Stoen Biyod. B SomoBod 8ol VoL 564000l :
() Q% Depd® 55 0 Depwid, ALED $god® O g6t wavae (B DRI
0)  >BDos seguoses 36 0 $§o8 DROD ©352E w§sebo aotnob.
O Do 0@ S0, RIE Sey 0 B3 25y, 5
) G308 sw0d shw0s HBEE" BHH0DN Begd 556 (A TRee08 DemoB oD w55
8.
SO aara Jods Babod |
1), (a), (b) B () SeSD @ () (c) B (d) SrHESD
(), (b) B (d) SPSD @) (a) () %0 (d) SeEd
168. Examine the following statements: ; - .
(@)  The Indian Government approves corpus of ¥ 5,000 crore for setting up of ‘Micro Irrigation Fund
(MIF) with NABARD under Pradhan Mantri Krishi Sinchayee Yojana (PMKSY).
)  TheMicrolrrigation Fund’ would substitute ‘Per Drop More Crop’ (PDMC) component of PMKSY.
Choose the correct answer': ;
(1)  Both (a) and (b) are correct. (2) Both(a)and (b) are incorrect.
(3)  Only (a)iscorrect. (4)  Only (b) is correct.
800 woron KBS0l : _
(@) ‘B58 S0@ B dosran @res’ (PMKSY) ok e (NABARD) 8 E* 567&S $ob' (Brg
58 st BB) Doy B0 ErEE (S§0E0 T5,000 5 SEHD e3rBOD0B.
(b) (EEeS Dol BR doraw FradE® P B8 I8 HHH D Do’ (H6 &5 6 15°9) B
e ‘W A SHBe QR BIFEp.
BSOS aarensy JodE Schod :
(1) (a)S0Ba% (b)Borke SOFID. (@) (a) 5005 (b)Borr HOFPKD 9.
9)/ (a) EPESD SOFIO. @  (b)SPSD SB@8.
169. Which of the following responsibilities are under the preview of the Finance Commission ?

P-T

(@)  Sharing of net proceeds of taxes between the centre and states.
(b) Recommending the principles for governing the grant-in-aid to the states by the centre.
() Recommendation on the matters referréd to it by the President for the interest of sound finance.

Choose the correct answer

(1) (a)only 2) (b)only (2/ (b) and (c) only @  (a).(byand(c)
800 BS* D entBen ¥R Yoo S66S° 8 SJow?

() Spo V88 emrairg) Sogo Hbaky TrEpe D& Sosso.

b Boo e wohod MFaire Howododd DahETOs VPEH Ichio.

(© OWER0 ArSSo eHrbnom nopd PN ErrodosEel8 ©SHEDS DYETen Jabo.
Ao erandd dobs Sabod :

(1) () SrgD @ bErgd @) ODOREOINESD (@) (a), (b) D0 ()

E—
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Examine the following statemen;s about the NITI Aayog of India :
(a) It was established to Provide
of Indian economy,~

(b)  Ithelps toevolve, promote and strengthen cooperative federalism v
(c)  Itformulates five year plans for India. v/

(d) Itwillcreatea knowledge, innova

4 critical, directional and strategical inputs to the development process

tion and entrepreneurial support through collaborations.
Choose the correct answer :

@ (@), (b)and (c) only
3)  (b),(c)and (d) only
grBSBI0E® Pboswds dy (NTTI) scinf;

(20  (a),(b)and(d)only

(4)  (a)and(c)only

$00080DS 808 wosre $88D0S0A

O ST OONS TS 5908 e el HE5S woBoSTm08 5D wd S Dot

®)  OEa%S e Raorgg 5935"‘3':17 DPS)2rosee0s, poIBSEI8, Erirobostds ab 8%K)khiod.
© &rEBATR8 DOSSY (BeDSerss EreloB308.

(@) aapoore Ty SOeprrdy, SsKeses, EESPBE Sgi & S0 EYROB,
SOSE esarenid JodE ol

171,

(1) (a), (b) Bk (c) Sm(&ah @  (a), (b) S0 (d) Sr(SH

(3)  (b), (c) HoBAo (d) Eviead @)  (a) S0 (c) Sriesd

Examine the following statements about the ‘Scheduled Castes and the Scheduled Tribes (Prevention of

Atrocities) Amendment Act, 2015" ;

(a)  The Actcame into effect from October 2, 2015,

(b)  Special courts are to be established for speedy trial of the cases related to offenses against members
of the SCs and STs.

() Preventing tribal people from using religious, health and educational institutes is also made
punishable by law.

Choose the correct answer :

(1)  (a).®)and(Q) (@  (a)and (b)only

3)  (b)and(c)only (4) (a)and(c)only

Tirgd Heren, S 8o (S5 Dardn) $S86 K’ 2015 50800 808 wosres 5680080k :
(a) @b 2,2015%008 & S0 wHNS'E S0
(b) SC&HBas» ST a’:gb’sué ég&'ﬁéom 267 Soee Honofodd e SKSodore Dorden asSoos

S (H858 8o domen Jaire.

(©  ABes (Hesen SoEBER, wEHHER S0k IFSEDI S0 5@PA0SE Do dboSto
e SQEstso Bgrgo.

SOEN aTrend oY Jabhod : .

(1) (a), (b) S8t (c) 2) (a) 0Bk (b) Emigh

(3)  (b) 00w () S SH @)  (a)o0asw (c) S

45-D
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Examine the following statements:

(a) Integrated Goods and Services Tax (1GsT1) Wﬂl“dr bL levied by the central government and collected
by the state governments on inter-state supply of goods and services,

()  GST council was created as per the Article 279A of the amended Constitution of India.

(©) Telangana was the first state that passed the GST Billin India,

Choose the correct answer :

(1) (a)and (b)only 2  (b)and(c)only

@) (a)and (c)only @ () (b)and(c)

808 wowred $8400S0d :

() H%S Ssphse Sky (IGST) S SyRHe VBTG HEH DO, & Sy BolE (&S0
D67, T [Hgosmgee S0 Bpaw.

b) rESSED $5005pAS Tampoos® 279A ©855m0 8o GSTEYS (Sotd) Grdrobosntod.

© ers8d806® GST Hepid wIrBoDd 56 T(Fo 8vorre.

BSOS werend JobE Bakod :

(1)  (a) SBcko (b) Sor&eD ) (b)oBckw (c) Sor(Feh

@) (a)BA (c) SPED (4)  (a) (b)nOcko (c)

173.

Examine the following statements about constitutional interpretation of environment by Supreme Court of
India :
(8)  The principle of ‘absolute liability’ was laid down in Oleum Leakage case.

(b)  The concept of sustainable development was introduced in Rural Litigation and Entitlement Kendra,
Dehradun Vs State of Uttar Pradesh case.

()  ‘Polluter pays principle’ was adopted in Indian Council for Enviro Legal Action Vs Union of India
case.

(d)  Exhibition of slides free of cost on environment in Cinema theatre was ordered in ‘M.C. Mehta Vs
Union of India’ 1991 case.

Choose the correct answer :

(1)  (a) (b)and(c)only (2)  (b)and(d)only

3 (a)and(c)only @)  (a)(b).(c)and(d)

68 o 8% Sordtreos ool grhe 3)Y 80b Jbwed 56400508,

(@) OEDE e Srigo L0abS HEa Traged’ Shulod.

b) REE PR S 558 DBAGS @oE JoBBSDOLS o, BEErS Vs 5 uf 688 SBS
Faos® (SBTDYREB.

© ‘Sreonkgsetit goomd’ ir@ots 2080DS TS 35 G DS IS Vs ardaDS e molase
Feyg08® eTrbobRld.

d) SoIDS BBGS ot SowSEE0R aDSorT T onED [BEQOTPER .0, ird Vs SoPASHS

. 65 20865 1991 arages® ety asipwlon.
£0&oS warend> JobE D :

(1) (a),(b) 2B () SmD 2  (b) Bk (d) Erad
@) (a) S0 () ERSD ' @)  (a), (b),(c) B (d)
P-T 46 - D
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"European Bank for Reconstruction and Development ( EBRD):

(a)  The bank was set up in 199 after the fall of the Berlin Wall
(®)  The bank’s headquarter is locage i, Berlin.

(©)  India became the 69" sharepo) g,
(d)  The bank aims at Promoting public i

Choose the correct answer :
(1) (), (b)and (c)only
(3)  (b)and (d) only

‘DIG oo HBae WIRE B30 g

5080035084

r of the bank.
nfrastructural initiatives in emerging Furope

(2) (a),(b)and (d) only
(4) (a)and (c)only
DADS ergos)’ (EBRD) 080D 808 IS6meod (soeroi)

@) BYS A (6) 5830 S8 & emsor 1991 domn Baselob.
()  ermgod @ErS SUgRdo BESEt ¢on
© erosH @) 69 S TERTE M ESEE0 3608,

(d)  ergos oFjo JEIDER daeEi et Ber 0K Sthdrdire 015 Réenyroso.

HOGES asarenid JoDE Vhod
(1) (a), (b) B (c) SoED
() (b)SoBctvy (d) S

@ (), (b) 5B (d) S
4 (a) 0B (c) Sr@D

175. Match the following states with their respective Maternal Mortality Rates (MMR) during 2014-16 -

State
(@) Kerala (@
(b) Assam (i)
(c Maharashtra (i)
(d) Rajasthan (iv)
)

MMR
237
199
66

61

46

2014-16 SP00ét 808 TPoid B (F5r8 SHbere Bend® (MMR) 23855508 :

e
(a) So¥ (i)
b) oo (i)
(© Sofoeg (i)
@ oS (iv)
v)

Choose the correct answer/ pairs /0G0 esaen

@ @-(v), (b)-(i), (c)-(iti), (d)-(i)
@) (@), (b)-(i), (c)-(i), (d)-(ii)

(B5r8 S¥ere Tin

237

199

66

61

46

2805 20D JdHol :
(@)-(v), (b)-(i), (c)-(iv), (d)-(i)
(@) (a)-(ii), (b)-(ii), (c)-(iv), (d)-(i)

176. Onwhich of the following dates did Pandit Jawaharlal Nehru laid the foundation stone for the construction

of the great Nagarjuna Sagar Project ?

(1)  1August1955
(3)  1October 1956

(2) 11 December 1955
(4) 1November 1956

2536 ovd o e AeKE (B AoEnSH FoHPSS IVY 38 6 ?

(1) 1eKy 1955
@) 1861956

@ 11 8&%owb 1955
(4 155008 1956

47 -D
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177. Which one of the following statements is not correct !
(1)  Dr.BR Ambedkar favoured smaller states.
(2)  Masuma Begum was the first Vice-Chairman of the “Telangap, Regional Committee’.
(3)  Telangana Mahasabha was formed in 1957-’ '
4) KR Amos was the founder President of the Telangana Non-gazetted Officer’s union”.
B0 (HSared® $0s°0 26 7
(1) . D.ub, woBl %) TiEpe wSHEE $2goTD,
Q) Smiwse Bo Beorrn (oBab E& 3056 35-348.
(3) 1957 68 ‘Boorre PG’ ADOTE.
(4) ‘Boorre SRREE w96) et ety 55555;3’35 OGHD 8.6b. erR.
I
178. Dr. Burgula Rama Krishna Rao wrote a lengthy letter making his stand on separate Telangana to the
Congress President. Whoamong the following was then the President of Congress ?
(1) DK Baruvah (2)  H.N.Bahuguna
@ ]B. Kripalani (4  U.N.Debhar )
oo eardye TPEE)E TR ($8g8 Boorre S0 85 e FairedH Beydr STl 508 2.8 268 B
(%, BB sPoid oD VD ?
(1) &3 2% (2 TE.II. a0
@) 28 Hde (@) .98 Bb
179. After Dr. Marri Chenna Reddy was arrested under the Preventive Detention Act in
July 1969 who among the following women, Ie;?e T.PS. agitation:
(1)  DurgaBhaktavatsalam Sadalakshmi
(3)  RodaMistry (4)  Sangam Lakshmi Bai
oo S 37 BE Swolsy Ao (.8.) 3o 6 1969 278 Fob&® eOHowS SoE Boorrs B
BB (808 BKEr) FHPAODD Sodrge TraHEHTRD DI ?
(1) oo gEsEo 2) Sorof)
@) & 2R @ oKo ofran
180. Match the following :
Programme Organisation
(@) ‘Telangana Poruyatra’ (i) BP
(b) ‘Telangana Prajayatra’ i) CPI
() 'Telangana Vidyarthi Ranaberi’ (i) ABVP
(d) ‘Telangana Yuddaberi’ (iv) Telangana Sangarshana Samithi
28BS
S S0
(a) ‘Boorrs AT i 8
(b) ‘Boorres Herde’ (i) .6
© ‘Boorrs JoP BnEd (i) .09
) ‘Booree angEHY (v) Boorrn BoFngep S8
The correct match is/S0G0N e :
(1) (a)-(i), (b)-(id), (c)-(iv), (d)-(iii) @ @), (b)-(i) (i), (d)-(iv)
@) (@), (b)), (0)-(i), (d)-(iv) @ (a)-(iv), (b)), ()-(ii). (d)-()
P-T 48-D
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The 1969 agitation for Separate statehood began on the issue of employment at :
( Kothagudem Thermal Power Plant
)  Singareni Coal Mines

(3) Nizam’'sSugar Factory

(#)  Andhra Pradesh State Roaq Transport Corporation

1969 60 @855 °°F 6655900 (808 3 503 4o AEY Do $50%58° (BB ?
Q

1) FETo 545 eiyS st

2) Dorde &% Hioen

() Qa0 IES STy,
(4) ©oEEDS oy 5% Sares 0%
@

gy s

P

182.  Arrange the following in chronological order -
(@)  Telangana Praja Front was formed by Gaddar. v
(b))  “Telangana Dhoom Dham’ was held at Kamareddy for the first time.v”
() Communist party of India organiseq “Telangana Poru Yatra’ from Jodeghat to Hyderabad.
(d)  Bharatiya Janata Party organjseq "Poru Telangana’ from Hyderabad to Bhadrachalam.
o8 B SHHEDS® Dy -
(@) "Boorrs @eEolS S HEE domen Savth,
(b) ‘Soorrem G0 PO’ AneFnesBI6m SEr0S 6° AkIroTR.
©  &e58aD S5mOR 8 S S 0l IS 556 Beors B SIS SSeptn.
(@ 00D s> PE IECERD Dok gorSeo SEH D Bvore’ SEYEITRY DRBPOTo.
Choose the correct answer /30@b%S amrandh JobE SeHod -
1) (b)(@).(c)(d) @ (b)) (d) (o) ,(35/ (@), (b), (), (d) @  (©.(d). (b))
183. Match the following :
List- I List-1I
(@) Ampasayya Naveen () Pantulamma
(b)  Sangishetti Srinivas (i) Veguchukkalu
(©  Devulapalli Ramanuja Rao (i) Kalarekhalu
(d Madireddy Sulochana (iv) Shabnavis
(508 8 asHtHs :
adar-] dac -1
(@)  sovdang 3OS () Sodely
b)  %on3s #9S (i) SroHen
© BHodd cdmdn oo (i) seBypen
(@) SrE8A eSS W) SeydS
The correct match is/S8&@S & :
(M), (@) Giii), (b)(iv), (o)), (d)-() @ @Hv), (b)), ()(ii), (d)~(i)
;ﬂ/ (@), (b)), (c)iii), (d)iv) @) (@A), (bHGv), (c)-(). (d)(ii)
P-T 49-D
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184. K Achuta Reddy was elected as first Chairman for the Telangana Regional Council by defea ting :

@ BV Gurumurthy () MirMohammad Ali Khan
()  Ravi Naravan Reddy (4) BaddamEllaReddy
2589 £.800 3. sy B8 Boorms @robud SDES SERD sau 2

) 9.9 HSHI0 @ 6 DPNE eb =5

@) oD voeche 06 4) 8o Qe 38

e

185. Which one of the following Commissions was appointed in 2002 by the State Gov: ent to study on the
implementation of G.O. No. 6107 emm

-('Y{ Jaya Bharatha Reddy Comumission (2 M. Girglani Commission

(3) KR AmosCommission (4)  Purushottama Rao Commission

2002 Sons® g (FehSo 8.2 Jo. 610 % ©Hen DSBS BB 3080033 GBS ZRS X
(1) scuess 08 SS @) &0 ABER S5

() S.65 o= IS @)  DBRASD oo SRS

-

186. Who among the Telangana leaders was the first to suggest Vishalandhra ?

(1)  Gulam Rasool Khan @ 1.V.Narasinga Rao
(3) Devulapalle Ramanuja Rao (4) KV.RangaReddy
Boorrs TFEHHes® A5 TngESL “DTOER” Ieodd ?

Q) oD 55O 8 @ B 38K =Y
B) BHoDY Trdrde T°Y @) 3.9 Sorrdd

187. The two political parties which did not support the agitation for separate statehood in Telangana were

(1) BJPandSP. )  CPI(M)and BJP

(3)  CPI(M)and MIM (4)  CPI(M)and BSP

8ob D el FFen (HEE Soorrm SEFIS DD (BEB0SBD ?

1) 985 HHdc IR.D. @ DD (cho) Hdaky D.8.D.
@) D.0..(cho) 5B Jo.8.0. @)  D.D.®.(cho) Do D.AVD.

188.  The Linguistic Provinces Commission set up by the Government of India in June 1948 was headed by

(1) SK Patil 4% SK Dhar @) Pataskar (4) PN Haksar
1948 =S &b Gr5S (HEHFO IS AHDOSHAS Frde BAnS THS SIUID STHFH A3 ?
1) N3 >85 ) 838 56 @) S @) DT 8

P-T 50-D
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189.  Assertion (A): [n 2001 1ocal body elections, the T.R.S. made an impressive show by getting 18 percent
ol votes in the Telangmm region.
Reason (R): Because of the growing official neglect towards Telangana region in United
Andhra Pradesh State K. Chandrashekar Rao Left ‘Telugu Desam Party’ and formed
Telangana Rastra Samithi’.
The correct answer is :
Both (A) and (R) are true and (R) is the correct explanation for (A)
(2)  Both (A) and (R) are trye and (R) is not the correct explanation for (A)
3)  (A)istrue but (R) is false
(4)  (A)isfalse but (R) is trye .
(BOPES (A): 2001 &8 aypip PO Roge YEeE® 8.68.28. 18 50 Ly o0 ways S6DE.
s¥es0 (R): 0T wolESES TS Boors odin i IS €4S 05K 3wl
$580%ore 3, S0 3pboesy et Bdso 80 36D Boorre oo HWH LDOID.
[0S Da3des
(1) (A) S0 (R)Botr dessiv, (R), (A) & $8GN DSes.
(@) (A) DB (R) Dot desiky, (R), (A) % KON DSBee 9.
@) (A)Jzso S (R) 8y,
@)  (A)SH D (R) Jesisw,
190. The poll survey conducted in 2011 by the Centre for the Study of Developing Societies (CSDS) was headed
by:
(1)  Rajdeep Sardesai (2)  Yogendra Yadav
(3)  Pranay Roy (4)  ArnabGoswami
2011 Son&® 006 35 & f BSuboR FpAS ®.95.8.05.) 3 N0y VBRroDS (HerPHrah Ve
D0 eios® adhod ?
(1) =B85 SBevow 2 o amss
B) (e oodh @) oBS A3
191.  Identify the wrong pair :
(1)  Palle Kanneru Pedutundi - Gorati Venkanna
(2)  JayaJaya he Telangana - Andesri
(3) Urumandira - Chada Anjaiah
@ Amma Telanganama - Gaddar
S0R e 1H%0808
(1) 38 8 podos - KBS oSy
@ =deadicBeorn -  wodd
B) &BHssBo - O wondly
4) ség 8e0rmedr - 595
P-T 51-D
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192.  According to Gentlemen'’s Agreement two out of the following portfolios were to be assigned to ministers
from Telangana. They were:

@
@

o

@

Home, Finance, Revenue, Education, Commerce and Industries

Home, Revenue, Industry, Education and planning

Home, Finance, Revenue, Planning and Developmentand Commerce and Industry
Finance, Electricity, Industry, Education and Rural Development

D ejoto EESD & Eob Fpud® 0500 Boomn 08 Serasomd. €3

)
(2)
&)
@

O, sgé. DI, D, T S0 HOFEHhen

I, BB, HO(FEoen, g SO 00R

T, 6, 03y, OoR oy 853 SO s By HOFeD
s, D58, SoEen, A S8 6rES BS0DHods

- —

193. Which one of the following statements is not related to the all party meeting organised by Kasu Brahmananda
Reddy, the Chief Minister of Andhra Pradesh?
(1) Al party meeting was held at Ananda Nilayam on 18 and 19t January 1969.
(2) Toimplementall party meeting decisions the G.O.No. 39 was issued by the Government of Andhra
Pradesh.
(3) 1J.NaiduandR. Vittal Rao were appointed to implement the decisions of all party meeting.
(4) TheState Government appointed Kumar Lalith Committee to estimate surplus reserves of Telangana
on 23" January 1969.
& (B0B (HS5SSSVes® OB solBHET Swrgold s [@FHRoKos dotn 305 oo SE HIRBIENID
$000809 96 ®anod S ?
(1) w550 18 H0ak» 19,1969 6° oo 3 $8rd¥o 6bors Noahos® wbd.
2 ©do 5 dadimed oXendaintd solFHBS (HehsEn 8.5 Jo. 399 b 3D0b.
@) .8 T Hoc 6b. D66 Tren sho JF $ErDE Mgaired e SEHe8 Aahvosold.
@ Boorrs Dibes Ao soST IS T BEHEED 23, @556, 1969 HErE 008 52089
Dabdoood.
194. The political domination of Andhra ruling class over Telangana resulted in :
(1)  Both theregions enjoyed the fruits of development
(2) Establishment of separate Economic development zones
(3) . Increased agricultural income
jﬂ( Made the people of Telangana as passive recipients
Boorrn® o o SBJ oeasdch Q¥ HdSore :
(1) Bokr Frotren ©HH) Joren Drobeon
() (S8 08sPH)R doteren AT?)E0DTPOD
(3) HgEIrado Hol sorabo HOAC
@) Boorrn (Hauen SSeo (DFE SPorr DD
P-T 52-D
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195. The "I'vlungnmﬁi Intelloctya) Forum’ plﬂyt’d an important role in the separate statehood
movement. Which one of the fnlluwing was its importantactivity 7
(1)  Itconducted a Peasants March to the District Headquarters
(@) Itproposed “Chalo Assembly”
: . fg Cagainst Elcctricity Board
;3:“:;;;;2‘; ;2&5 858 Beromeg aeS5s006® @BErd G Dhones. Bot =8° D8 @ Juiy Gt
(1) &8 Zep Solr08 sy S Sseio,
@) 36" eRof" S0 monop,
) Soormn BB 8 “DERCHE uf ugor % B%HBosto,
) J0Fd8 &5 S5adsom oeeyo dideso.
196. Identify the wrong pair_:_—-__-—__‘-_____
(1)  Telangana Martyrs day 17 May, 1969
(2)  Telangana Protest day N 2 June, 1969
By Telangana Betrayal day 20 April, 1969
4)  Telangana Women'’s day 17 June, 1969
[0 w8 HoSos
(1) Boorrn wHBd%He %o 17 3, 1969
(2) Boorre JBHS BSo z 273, 1969
(B) Beoorre HoSE Bdo ’ 20 DS, 1969
(4) Boorre Hrer B350 - 17 &, 1969
197. Assertion (A): The fruits of new market economy unleashed from the 1990s were enjoyed mostly by
the Andhra ruling class,
Reason (R): The pitfalls of development were borne by the people of Telangana.
The correct answer is :
Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)  Both(A)and (R) are true and (R) is not the correct explanation of (A)
()  (A)istruebut (R) is false
(4)  (A)isfalse but (R)is true
(P8ISS (A): 1990 H008 (2D Sr&S S8 QS 5% TnE) Pere Se woltsSoostD FossBo
rEHE00.
80 (R): 5B DHE Ko Seodil) Boors B ghostes 5908,
JOGDS DGk :
(D) (A)&Batw (R) Botsr deo, (R), (A) & $OToiS Di5tes.
(2)  (A)S00dsw (R) Bor Dessk, (R), (A) % 30TDHS DS5ea sots.
() (A)dasin =2 (R) S,
@) (A)8G) s° (R) Desiso.
P-T 53-D
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198.  Arrange the following important Agitations in chronological order under the leadership of students of

Osmania and Kakatiya Universities.

(@)  ‘Telangana Vidyarthi Garjana’

(b)  “Chalo Assembly’

(€)  ‘Telangana Vidyarthi Mahagarjana’ _

(d)  ‘Vidyarthula Polikeka’ by Kakatiya University Students P

(@) ‘Boorre Dowgy g’

(b) ‘$6° wod)

(© ‘Boorre Doesd g’

(d)  =8Bod rdSBYS DorsRed DEroisnl ‘D NADIELY

(C‘?cmse the correct answer /0@ asareddo JoDE Dol :

@00d @ Oado @ oo6ad @ OdOe
199.  Which one of the following statements made in A.P. Legislative Assembly in June 1961 is not correct ?

(1)  “If the Government takes immediate steps to provide basic necessities to the people of Te"‘"‘g,a“i;
then there is every possibility of emotional integration of both the regions at the earliest
- P.V. Narsihma Rao. .

(2)  “The Securities and Revenue surplus of Telangana has been spent on Andhra region. If only that
amount and another four to five crores were spent on Telangana, it would have developed well”
- P.Sundarayya. ‘

(6{ “Itis five years since Vishalandhra was formed. But there has been no emotional integration. The
policies of N. Sanjeeva Reddy were responsible for it - Ravi Narayan Reddy.

(4)  ”No one wanted to rob Telangana money. We are just thinking as to how to solve the problem”.
- Chief Minister N. Sanjeev Reddy.

25 196168 AP, 53 $e56° 325 & 808 BSSes® 38R0 28 ?

1)  “Boorrm (BuoH SHY Sopg o35 SHTIE [HEHS0 o8 Fosse Stgen B:Ho8, wod
FOLErR, Boorrs, wo S4aD (Frosive D, DIPEES a0BARS, rHTESETHS dikkn
oIS edsedo dotnod”. — .. SBRoIFTRE.

2) “Boorrn &f) EmBART, BAKEy DHud woE@rodinst PEYDYEO 3BACH. & Boorrn
&ey) $0ck» Teiith 8%y stsSor pi)2§Hod Boorrn ar ©hHG Bob dos”. - b. Hosbas;

B) “Dewrold B 5osETren wHHH[. SR IIRNS 0BRRS atrSs. 58 BoBBEME
©500Hodd IFPHEnE Soggsrindn” - T°D T eHetE.

(@) “Boorre tay ©S5IFBoTOI aZ¥0 ISB8 Bk, WK O Difore FOKHBoTLT Wt DRyTHIY”.
- SoggEool® Jwo JoHS0G.

200. Identify the leader who did not appose the disintegration of Hyderabad state and
represented the same to the states Re-organisation Committee.

(1) Pundit Narendraji (2) Pundit Vinayak Rao
Gopal Rao Ekbote (4)  Kotturu Seetayyagupta

Tiorars oo Dgisio H5808osone, R 6-wyRERS E088 w8 wdorheone DepsS woBsBNod

o3% ?

(1) H088 Sosd () $ol8 drchs TR

@) >S o 8N8 @) E&rd bdahyod

-000-
P-T 54-D
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Telangana State Level Police Recruitment Board
SCT SI CIVIL AND / OR EQUIVALENT - PRELIMINARY WRITTEN TEST - 2018
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